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Question ID:- 181

DEFERENCE

Choose the word similar in meaning to the above word.
(1) Skill

(2) Reverence

(3) Prediction

(4) Refinement
Options:-

.1, Option ID :- 721,
. 2, Option ID :- 722,
. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 3, Option ID : -723

Question ID:- 182

DEARTH
Choose the word opposite in meaning to the one given above.
(1) Success

(2) Wisdom

(3) Surfeit

(4) Passion
Options:-

.1, Option ID :- 725,
« 2, Option ID :- 726,
. 3, Option ID :- 727,

. 4, Option ID :- 728,
Answer Given:- 1, Option ID : -725

Question ID:- 183

Identify the Part of Speech of the underlined word in the sentence given below :

The children are where you left them .

(1) Noun

(2) Verb

(3) Pronoun
(4)  Adjective

Options:-




.1, Option ID :- 729,
« 2, Option ID :- 730,
. 3, Option ID :- 731,

« 4, Option ID :- 732,
Answer Given:- 3, Option ID : -731

Question ID:- 184

[ am going to write a letter.

Choose the option in which VOICE in the above sentence has been correctly changed into Passive
Voice.

(1) A letter is going to be written by me.

(2) A letter is being written by me.
(3) A letter is written by me.
(4) A letter will be written by me.

Options:-

.1, Option ID :- 733,
« 2, Option ID :- 734,
. 3, Option ID :- 735,

« 4, Option ID :- 736,
Answer Given:- 2, Option ID : -734

Question ID:- 185

Ram said, “I shall write a book.”

Choose the option in which the above sentence has been changed into Indirect Narration.
(1) Ram said that he shall write a book.

(2) Ram said that he would write a book.

(3) Ram said that he should write a book.
(4)

4 Ram said that I should write a book.

Options:-

.1, Option ID :- 737,
. 2, Option ID :- 738,
. 3, Option ID :- 739,

. 4, Option ID :- 740,
Answer Given:- 3, Option ID : -739

Question ID:- 186

Rearrange the following jumbled words and phrases into a meaningful and grammatically correct
sentence :

(A) sleeps the

(B) that knows

(C) sleep

(D) no waking

(E) she

1) (E) (&) (©), (B). (D)
2 (D) B), ©), (A), E)
3) (©. (A), (B), (D), (E)
4)  (B), (D), ©), (A), (B)




Options:-

.1, Option ID :- 741,
. 2, Option ID :- 742,
. 3, Option ID :- 743,

. 4, Option ID :- 744,
Answer Given:- 1, Option ID : -741

Question ID:- 187

Identify the Part of Speech of the underlined word in the sentence given below :

It shall be done by then.

(1) Noun

(2) Pronoun

(3) Adjective

(4) Adverb
Options:-

.1, Option ID :- 745,
. 2, Option ID :- 746,
. 3, Option ID :- 747,

. 4, Option ID :- 748,
Answer Given:- 2, Option ID : -746

Question ID:- 188

Identify the tense of the following sentence :
I am going to Mumbai in the evening.
(1) Future indefinite

2 Future continuous

(2)
(3) Present continuous
(4)

Simple present

Options:-

.1, Option ID :- 749,
. 2, Option ID :- 750,
. 3, Option ID :- 751,

. 4, Option ID :- 752,
Answer Given:- 2, Option ID : -750

Question ID:- 189

Fill in the blanks in the following sentence by choosing the correct options out of the given ones.

He looked his watch his bedroom.
(1) at;at

(2) for;in

(3) in;at

(4) on; through

Options:-

.1, Option ID :- 753,
. 2, Option ID :- 754,
. 3, Option ID :- 755,




. 4, Option ID :- 756,
Answer Given:- 2, Option ID : -754

Question ID:- 190

Fill in the blank in the following sentence by choosing the correct option out of the given ones.

He swam the river to the other bank.
(1) across

(2) into

3) in

(4) along
Options:-

.1, Option ID :- 757,
. 2, Option ID :- 758,
. 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 2, Option ID : -758

Subject : GH_Q11-Q20_PGTECO

Question ID:- 191

= fqu T T @ UeeR At sfua fasmed & = Fife

ST AR B S A ATl Ueh HedTHH 31 Yeel SArRHd S0 3 § 9T Tl § 1 I we
T AN € 3R 39 SfE e Ueien S 20 | STaud Qe GHR S SYul Yee U w9 ofdl §; Fe @ 9
T, S GUR 9T € 2 T8l 3% da) 4 |

TRy H foRgeRt €9 i S § 2

(1) HEAUHR 3K Hae dAlnHd

(2) HEATHRT T Yol FAlHHA

(3) HEATITRRT 3R CAlehdi >k Hd

(4) ARdItR 3R YeaeTHd
Options:-

.1, Option ID :- 761,
. 2, Option ID :- 762,
. 3, Option ID :- 763,

. 4, Option ID :- 764,
Answer Given:- 2, Option ID : -762

Question ID:- 192




=i feu e T i g waite 3fed fasey w1 = Fifsa )
ST TEENSTl B L Fel Uk HeArIEh S Yool Shad Tid s H UHT el € 1 I e
GO TR © SIR 39 S yeflen e 2R ST gt GuR o SYul Gee T8 &9 ofdl §; FE @ a
T, S GUR 9T € 2 T8l 3% daR o |
TR % SFTHR HHETSS GUR I Je G 8
(1) 37 SR I T S GURF §

(2) A GRI I TETH S STHHEIE &

(3) YR B AR 1 TR HEAT

(4) TS GURE @R A SAfrs g
Options:-

.1, Option ID :- 765,
. 2, Option ID :- 766,
. 3, Option ID :- 767,

. 4, Option ID :- 768,
Answer Given:- 3, Option ID : -767

Question ID:- 193

== fqu Tu e o ee Haitys 3fEa fasen o =9a Fifeu)

ST TS B R oA aTell Ueh HedIvhi SR Yool SishHd T 3 § 999 oTal € | S wel
T T € 2R 59 < 2 gota el 2R | STue i UR i |yl geen T8 €9 ot §; Fel § d
T, S GUR 918d € 2 780l 3= aa |

TSN H leREd R e & fau 1 A o T e @ 2
(1) uReds & fou e

) ufEdd & fau 99
(3) HHTS GHR I Aol
(4) HHS GUR &1 GaeAdl

Options:-

.1, Option ID :- 769,
. 2, Option ID :- 770,
. 3, Option ID :- 771,

. 4, Option ID :- 772,
Answer Given:- 2, Option ID : -770

Question ID:- 194




== fqu Tu e o e waityeE 3 fasen o wa Fifeu)

YT TN e 9 T ATl Ush oA SR Yeel Siehhd Tfud A H geg ol § | I e
T T € SR 59 S g YA e 2R | STue IR R ki HYvl HEe T8 9 ol §; Fel § o
T, ST GUR 96T § 2 U8 S8 aaR & |

TR % STTER FHEAHR ARHd i fadmad g1
(1) TU9IHR Il qE

(2) ST FHENSTi ol T gersm
(3) SO HHEnS 9 g
(4) TEA TS STAT BT

Options:-

.1, Option ID :- 773,
. 2, Option ID :- 774,
. 3, Option ID :- 775,

. 4, Option ID :- 776,
Answer Given:- 2, Option ID : -774

Question ID:- 195

== feu T T 1 YR Halius 3faa fased 1 =5 St |

ST AR B S A ATl Ueh HeAIvE S Yool SARHd S0 3 § 99T T €1 S e
T T € 2R 59 < 2 gota el 2R | STue i UR i |yl geen T8 €9 ot §; Fel § d
T, S GUR 96 € 2 T8l S oqar |

Yelted &1 FETET veE B

Options:-

.1, Option ID :- 777,
. 2, Option ID :- 778,
. 3, Option ID :- 779,

. 4, Option ID :- 780,
Answer Given:- 3, Option ID : -779

Question ID:- 196

foreir vreg &1 -1 T TE TE € ?

(1) SBclh-Telh
(2 sE@-gd@

(3) =M - v
(4) fer - fafem

Options:-




.1, Option ID :- 781,
. 2, Option ID :- 782,
. 3, Option ID :- 783,

. 4, Option ID :- 784,
Answer Given:- 1, Option ID : -781

Question ID:- 197

Options:-

.1, Option ID :- 785,
. 2, Option ID :- 786,
. 3, Option ID :- 787,

. 4, Option ID :- 788,
Answer Given:- 2, Option ID : -786

Question ID:- 198

AHY- qEYE T FA-T1 JH SFHII T 2

(1) fget - 9
(2) TA-A=
(3) ¥ - Y
4) &t - fafem
Options:-

.1, Option ID :- 789,
. 2, Option ID :- 790,
. 3, Option ID :- 791,

. 4, Option ID :- 792,
Answer Given:- 4, Option ID : -792

Question ID:- 199

i T -1 ISR STETE © -
(1) §+ 07 = @rE

(2) 3fd + enfg = gefe

(3) e+ HfY = Hef

(4) T+ W = W
Options:-

.1, Option ID :- 793,
. 2, Option ID :- 794,
. 3, Option ID :- 795,
. 4, Option ID :- 796,




Answer Given:- 4, Option ID : -796

Question ID:- 200

e ¥ i weg-gm ® -

(1) feA-Te

2) Sm-de

3) SE-d

(4) wES-¥A
Options:-

.1, Option ID :- 797,
« 2, Option ID :- 798,
. 3, Option ID :- 799,

. 4, Option ID :- 800,
Answer Given:- 4, Option ID : -800

Subject : GA_Q21-Q30_PGTECO

Question ID:- 201

What is the hexadecimal equivalent of decimal number 23 ?

1) 17
2 7

3) 16
(4) 18

TIMEE Sl 23 T WISy SHR THqed HEA # 2r 2

1) 17
2) 7
(3) 16
4) 18

Options:-

.1, Option ID :- 801,
. 2, Option ID :- 802,
. 3, Option ID :- 803,

. 4, Option ID :- 804,
Answer Given:- 2, Option ID : -802

Question ID:- 202

Among the following which is not advisable for having ‘Earth Quake safe” buildings ?

(1) To consult qualified architects and structural engineers while constructing the building.
(2) Use heavy construction materials at roof area in the highly seismic area.

(3) Fix cupboards and shelves to the walls.
(4)

4) Have firefighting equipment in working order.




Frefafad 5 9 g g giea’ ward o foe qmear 78 @1 571 |l § 2
(1)  wo Taio o 99 A4 aRgshil R ot Sl § e o

(2) stferes sy aret &0 H B 9 9 O SRl SR gE

(3) HYAE AR IeF H AR H Fer

(4) SAFFTIHT ITRTOT ) =g Ferd H T

Options:-

.1, Option ID :-
. 2, Option ID

805,

:- 806,
. 3, Option ID :-

807,

. 4, Option ID :- 808,
Answer Given:- 2, Option ID : -806

Question ID:- 203

Match List (I) with List (IT) and select the correct answer using the codes given below :

List (I) List (II)
(Missiles) (Month in which missile tests were conducted)
(A) Brahmos Extended Range Version i May, 2022
(B) Submarine Launched Ballistic Missile (ii) October, 2022
(C) Helina (iii) April, 2022
(D) Phase II Ballistic Missile Defence Interceptor (iv) November, 2022

(A) (B) (© (D)

1) Gv) @) @@ @

@ @ @) @) @)
@) @@ () @
(4) (@) @ @Gv) ()

et -(1) TR el (1) =1 e forfs iR = o 10 3he =61 93m &td g0 §el 3ot o 99 fhfew )

Tei-(1) T -(1)
(Frrarget ) ( formmget wleror 6t wE )
(A) =Y o foraarid I Hehtol @) ®E, 2022
(B) UGSl 9 Bl oM arelt dfeifes faasa (i) STERER, 2022
(C) =fe (i) ¥, 2022
(D) e 2 Sfafes foura fetha deriex (iv) TEFsR, 2022
%< :
(A) (B) (€) (D)
1) (@v) (@) (@) (D)
2 @ @) (@) (i)
(3) @) (v) @) (i)
(4) @) (@) (v) (i)
Options:-

.1, Option ID :- 809,

. 2, Option ID :- 810,




. 3, Option ID :- 811,
« 4, Option ID :- 812,

Answer Given:- 2, Option ID : -810

Question ID:- 204

List (I)

(B) Sreeja Akula
(C©) Anshu

(D) Parveen
Codes :

(Aa) B (©
O @ @ @)
) () @ (@)
(3) (@) (D) ()
(4) () @v) (@)

eit-(1)

(

(B) IS Sigen
: .

(

—
8

e P N i R

I

3
4

— — e —
— e — — p—
e

=

Options:-

.1, Option ID :- 813,
. 2, Option ID :- 814,
. 3, Option ID :- 815,
. 4, Option ID :- 816,

Answer Given:- 1, Option ID :

(Arjuna awardees, 2022)
(A) Omprakash Mitharval

(3T YRR farsra, 2022 )
A) 3TmyEN fRerar

-813

Match List (I) with List (IT) and select the correct answer using the codes given below :

List (II)
(Sports/Games)
i) Wushu
(ii) Shooting
(

iii) Table Tennis

(iv) Wrestling

G- (1) i it (11) 1 e oy oi el fo 1o e o weik e g Wl S o =

(1)
(@)

Question ID:- 205




Among the following authors whose book/title was selected for Sahitya Akademi Awards 2022 in
Sanskrit ?

(1) Janardan Prasad Pandey ‘Mani’
(2) R. Ganesh

(3) Balram Shukla

(4) Sudhikanta Bharadwaja

Freafafiaa ol § @ foFa oras #1 T /dde 61 95hd § |ifee sTheH TR 2022 % fag g
™1 ?

(2) SR T

(3) S YEAl

(4) QiR YRGS
Options:-

.1, Option ID :- 817,
« 2, Option ID :- 818,
. 3, Option ID :- 819,

« 4, Option ID :- 820,
Answer Given:- 2, Option ID : -818

Question ID:- 206

A commission of inquiry headed by Justice ]J.C. Shah called ‘Shah Commission of Inquiry” was
appointed to inquire into which of the following events in India ?

(1) The proclamation of emergency in 1975
(2) The demolition of Babri Masjid in 1992
(3) Indira Gandhi’'s assassination in 1984
(4) Bombay Riots 1992

ara H frefafaa § 9 frg we &1 5= & fou sifeq 9.9 it s 9 o Si" 080 R S
FHHTeA " i e & T ot 2

(1) 1975 H ST9TaeIe i Hreon

(2) 1992 ¥ srel Afesd 1 &9

(3) 1984 H sfeu e =T g

(4) 1992 ¥ 9wE & g

Options:-

.1, Option ID :- 821,
. 2, Option ID :- 822,
. 3, Option ID :- 823,

. 4, Option ID :- 824,
Answer Given:- 2, Option ID : -822

Question ID:- 207




The Royal Bengal Tiger is most commonly found in which kind of forests in India ?
(1) Thorn Forests

(2) Mangrove Forests

(3) Montane Forests
(4)

4) Tropical Evergreen Forests

U H forg YR & g9 § HErId: U8 S 2SR 9T S § 2

(1) ISR A

(2) = aTefaed

(3) EdE 9

(4) SwrEhfes HeRid a9
Options:-

.1, Option ID :- 825,
« 2, Option ID :- 826,
. 3, Option ID :- 827,

. 4, Option ID :- 828,
Answer Given:- 2, Option ID : -826

Question ID:- 208

United States of America surpassed which country to become India’s biggest trading partner in
the year 2021-2022 ?

(1) Russia

(2) China

(3) Soudi Arabia
(4) Indonesia

Y 2021-22 H XA 1 HIH T M HACR J7d U ST 1 8 &9 &1 1 3 ?

(1) *4
2) =
(3) Hsal eWaE
(4) FEARE
Options:-

.1, Option ID :- 829,
. 2, Option ID :- 830,
. 3, Option ID :- 831,

. 4, Option ID :- 832,
Answer Given:- 2, Option ID : -830

Question ID:- 209




Consider the following statements :

(a) Parliament in India has the power by law to provide for the abolition of the Legislative
Council of a State.

(b) The Legislative Assembly of the concerned state has no say in the matter of the abolition of
the Legislative Council of a State

Choose the correct answer from the codes below:
(1) (a) is correct but (b) is wrong
(2) (a)is wrong but (b) is correct
(3) Both (a) and (b) are correct
(4)

4)  Neither (a) nor (b) is correct

Frefafaa sl o fomm fafsme-
(a) v H FHg 1 fauft % omor e = #it faum uftee 1 wmm = S af o §
(b) Heifera T %1 faur @1 1 T3 Fi faum ofieg #1 gA % % 9md J S5 ften 781 Sl 21

=i feu U e § W& I A = fRfS
1) (a) WE & g (b) 7o §
(2) (a) Tor & fobg (b) W E
B) (a) ¥R @, < T E
(4) EFH T FE oft TE T R
Options:-

.1, Option ID :- 833,
. 2, Option ID :- 834,
. 3, Option ID :- 835,

- 4, Option ID :- 836,
Answer Given:- 1, Option ID : -833

Question ID:- 210

Assertion (A) : Bacteria are single-called microorganisms without a nucleus.
Reason (R) : Bacteria are Eukaryotic organisms.

Choose the correct answer from the codes below :

(1)  (A) is correct but (R) is wrong

(2) Both (A) and (R) are correct and (R) explain (A)

(3) Both (A) and (R) are correct but (R) does not explain (A)

(4) Neither (A), nor (R) is correct




A (A) :  STary for shgen arel TheRIaIehid Yawsia Bid ¢ |
% (R): STy FefE Se B E

== f2u 7T e | Wt I A =7 e

(1) (A) € g (R) Ted &

2) (A) 3R (R) I WEl € 7R (R), (A) 1 TE HA ©
3)  (A) ¥R (R) I T ¥ fohg (R), (A) 1 T8 el et &
(4) 2FH § FE off TE T 2

Options:-

.1, Option ID :- 837,
. 2, Option ID :- 838,
. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 1, Option ID : -837

Subject : RA_Q31-Q35_PGTECO

Question ID:- 211

The given question is based on the following information :
P ® Q means ‘T’ is the father of ‘Q’;

P @ Q means ‘P’ is the mother of ‘Q’;

P % Q means ‘P’ is the son of ‘Q’;

P # Q means ‘I’ is the brother of ‘Q’;

f'H#]®L@G % F, then how is ‘F related to J" ?

(1) Son

(2) Grandson
(3) Son-in-law
(4) Father

Fea o w9a Frefafag st o2 anwf )
‘PQ 1 1 § - P, Qi fian §;

P@Q T AY T - P, Q &l HEI T;

P%Q ® kg - P,QH TAFT;

‘P#Q F &4 & - P, Qo WIg &1

I H#]OL@G % F & o ‘F, ] | frg yopr geafa & ?

() 9
(2) 9=
(3) <M=
(4) Toar
Options:-

.1, Option ID :- 841,
. 2, Option ID :- 842,
. 3, Option ID :- 843,
. 4, Option ID :- 844,




Answer Given:- 3, Option ID : -843

Question ID:- 212

Three statements showing relationships have been given, which are followed by two conclusions
(I) and (II). Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.

1

2 Heiy TR A 9w e e § o A & freed-(1) oiv () fee e ¥ 1= 9 g e few e
Fo TE ¥, 9 T Fifew o P 8 Frerd Fivea w9 8 @@ 32 2

wmIT: (1) J<L

() L<M

3 D=M
ferd: () D=

M J<D

(1) e faswd (1) wd &

(2) el foepd () W &

(3) Frewd (1) & (1) 2, W €

(4) 2 Toremef # @ ¢ off we T &

Options:-

.1, Option ID :- 845,
. 2, Option ID :- 846,
. 3, Option ID :- 847,

. 4, Option ID :- 848,
Answer Given:- 2, Option ID : -846

Question ID:- 213

Eight friends A, B, C, D, E, F, G and H are sitting around a circle, facing at the centre. ‘C" is
between ‘E” and ‘F'. ‘G’ is the neighbour of ‘E’. ‘F’ is on the immediate right of ‘B’. ‘H’ is on the
immediate left of “A’. “H’ is not the neighbour of ‘D" or ‘E'.

Which of the following statement is true ?

(1) “F is the neighbour of ‘G’

(2) ‘G is between 'H and 'F’

(3) ‘E’is between ‘B" and ‘F’

(4) ‘H is immediate neighbour of ‘A" and ‘D’




e AT A, B,C, D, E, F, G 3R H TF g &% 91 iR 36 %= ! IR e &k 943 §1°C/, 'E' $IRF &
o9 931§ 1'G/, 'E' H1 IS’ 81 ‘F', ‘B’ % UheH T SR T H’, ‘A’ % UheH 94 SR ¥ 1 HY, ‘D’ SAUE
B o Ul el 2

Trefafas § & 5 @ w9 82

(1) “F,'G &S &

2 ‘G, H INE FaAHE

3) ‘E,BIARFFAIHL

(4) ‘H,’A’ 3iR‘D’ =1 THeH USHE B

Options:-

.1, Option ID :- 849,

. 2, Option ID :- 850,

. 3, Option ID :- 851,

. 4, Option ID :- 852,
Answer Given:- 2, Option ID : -850

Question ID:- 214

Three statements are given followed by three conclusions (I), (IT) and (III). You have to take these
statements to be true, even if they seem to be at variance from commonly known facts. Decide
which of the given conclusions logically follow(s) from the given statements

Statements :

(1) Some plates are cups.
(2) Some cups are tumblers.
(3) All tumblers are spoons.
Conclusions :

(I) Some spoons are cups

(II) Some cups are plates

(II) Some spoons are plates

(1) Only conclusion (I) follows

(2) Only conclusion (III) follows

(3) Only conclusions (I) and (II) follow
(4) Only conclusions (II) and (III) follow




1 i e few T ¥ forer e o fres- (1), (1) 23R (1) feu T 1 sroeR 3 el w1 WE W ® e
9 |Hd: 9 92l § e =5 9 20 fola wifse e @ freed feu o seel | aifhe w8
Fyehetar /2 ?

)
)

3) ad fskd (1) @i (1) Frekerar &
) Had frepd (1) iR () Frere

Options:-

.1, Option ID :- 853,
. 2, Option ID :- 854,
. 3, Option ID :- 855,

« 4, Option ID :- 856,
Answer Given:- 3, Option ID : -855

Question ID:- 215

Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Father, Infants, Males




feu T faeredl & B 4 39 oiE w1 =g i S few o et ¥ e o g6y w5 vt o
foe, ferey, gw

.(O) O

Options:-

.1, Option ID :- 857,
« 2, Option ID :- 858,
. 3, Option ID :- 859,

. 4, Option ID :- 860,
Answer Given:- 4, Option ID : -860

Subject : CL_Q36-Q40_PGTECO

Question ID:- 216

Which of the following features is not included in paragraph formatting ?
(1) Making text bold

(2) Aligning text
(3) Indenting text
(4) Adjusting space between lines

TR TS | A E e wnfHer @ € 2
(1) 2R I dles S

(2) R 1 AR HE

(3)

(4)

2

S Tl T2 A

ARl & od TE &l TS FHAT

4

Options:-

.1, Option ID :- 861,
« 2, Option ID :- 862,
. 3, Option ID :- 863,

« 4, Option ID :- 864,
Answer Given:- 3, Option ID : -863




Question ID:- 217

The first slide of a presentation in MS-PowerPoint normally has the layout of :
(1) Header slide

(2) Content with caption

(3) Section Header

(4) Title Slide

THTH-9ER W5 Yo & Taell WIEe § SHaR T %] T3 B 2|
(1) =B =ES

(2) WM % WY T2

(3) UWM TS

(4) <R WS

Options:-

.1, Option ID :- 865,
. 2, Option ID :- 866,
. 3, Option ID :- 867,

. 4, Option ID :- 868,
Answer Given:- 4, Option ID : -868

Question ID:- 218

A software program that prohibits pop-up ads from web pages or actual pop-ups caused while
coding is called .

(1) Ad blocker

(2) Popup blocker
(3) Firewall
(4)

4)  Spam blocker

T GIRIT T S dausi 9 9i9-39 TSy T Fifen Hid 99 39 drdiaes qiq-37ed = ffag
%, T FEAME :

(1) g AR

(2) HH-379 sElhT

(3) HIEETE

(4) T sATRT
Options:-

.1, Option ID :- 869,
. 2, Option ID :- 870,
. 3, Option ID :- 871,

. 4, Option ID :- 872,
Answer Given:- 4, Option ID : -872

Question ID:- 219




The key(s) acts as a toggle key.

(1) Caps lock and Insert
(2) Shift and Insert
(3) Shift and Caps lock
(4) Shift and Ctrl
IS T 2N ISl & B9 H FH Fl & |
(1) = &k T8 30
(2) Tow Uz =2
(3) T de Fwels
(4) fow tE Cul
Options:-

.1, Option ID :- 873,
« 2, Option ID :- 874,
. 3, Option ID :- 875,

. 4, Option ID :- 876,
Answer Given:- 4, Option ID : -876

Question ID:- 220

Which key combination is used to indent a paragraph in MS-Word ?

(1) Ctl+N
(2) Ctl+O
(3) Ctrl+P
(4) Ctrl +M

THUH-9E § U UOUTE ] 582 & & fAU i 91 &1 Gars= 93 fwa S g ?

(1) Cul+N
(2) Cul+O
(3) Ctrl +P
(4) Ctrl +M
Options:-

.1, Option ID :- 877,
. 2, Option ID :- 878,
. 3, Option ID :- 879,

. 4, Option ID :- 880,
Answer Given:- 3, Option ID : -879

Subject : UL_Q41-Q55_PGTECO

Question ID:- 221




What do you understand by ‘Development” in child’s growth ?
(1) TIrreversible Quantitative change while child grows

(2) Reversible Quantitative change

(3) Qualitative change while child grows

(4) Irreversible Qualitative change

T Hi Gafg | fasm’ g sae = aeed € 2

(1) =T & 3fg F F9 § R-sgermvia Tomes aiadT
(2) ERAIE YOS GRE

(3) dels i gfg o A H BHare Uik IiEtd

(4) TR-ZeRATTE TUNeHF TREET

Options:-

.1, Option ID :- 881,
. 2, Option ID :- 882,
. 3, Option ID :- 883,

. 4, Option ID :- 884,
Answer Given:- 3, Option ID : -883

Question ID:- 222

The following example would best explain "‘Moral domain’ of the child ?
(1) Argument with friend on social conflict

(2) Differentiating between Good and Bad
(3) Crying over pet dog's death
(4) Distribution of Birthday sweets

fr=ifera § 9 forg Serewur § drets & ‘e &9 % 9aiad oA B Hehdl © 2
(1) Hrmifs g &% ar o 73 | foae

(2) 3T iR P F " g w
(3) U Y@M % fEE W I
(4) e F 31aER R el die

Options:-

.1, Option ID :- 885,
« 2, Option ID :- 886,
. 3, Option ID :- 887,

« 4, Option ID :- 888,
Answer Given:- 2, Option ID : -886

Question ID:- 223




Which one of the following is an example of Primary Socialising Agency in Education ?
(1)  School

(2) Media
(3) Family
(4) Home

Fa=ifera # 9 =0 forem & &3 H wafes HHTSeRo] UsiE <SSl & ?
(1)

2

(2)
(3)
(4)
Options:-

.1, Option ID :- 889,
« 2, Option ID :- 890,
. 3, Option ID :- 891,

. 4, Option ID :- 892,
Answer Given:- 3, Option ID : -891

Question ID:- 224

Which one of the following could be attributed to “Affective domain” in child’s development ?
(1) Feeling

(2) Crying

(3) Swimming
(4) Thinking

Fr=ifera § 9 ford arore & o § ¢ wreaTeaer &3 91 S 9ol 8 2

(1) eryfa
(2) ®&A
(3) et
(4) f&a=
Options:-

.1, Option ID :- 893,
« 2, Option ID :- 894,
. 3, Option ID :- 895,

« 4, Option ID :- 896,
Answer Given:- 4, Option ID : -896

Question ID:- 225




"Maturation’ in child’s development is very crucial for

(1) Dancing
(2) Learning
(3) Playing
(4) Singing

arerss & fas™ | feiferd § & fore fore ‘aftueaa’ yo@ 9@ § 2

() T
(2) afermm
(3) e
(4) TEA
Options:-

.1, Option ID :- 897,
. 2, Option ID :- 898,
« 3, Option ID :- 899,

. 4, Option ID :- 900,
Answer Given:- 2, Option ID : -898

Question ID:- 226

The active participation of the child in classroom falls under :
(1) Social learning

(2) Emotional learning
(3) Cognitive learning
(4)

4) Experimental learning

471 | dereh i wisha wevifiar it 6 § frges iaia e €2
(1) =R wferry
(2) wrEATEHS STfeETH
(3) HIETHS Al
(4) W SfETH
Options:-
.1, Option ID :- 901,
« 2, Option ID :- 902,
. 3, Option ID :- 903,

. 4, Option ID :- 904,
Answer Given:- 4, Option ID : -904

Question ID:- 227




The act of ‘Driving car’ comes under :
(1) Affective domain

(2) Psychomotor domain
(3) Emotional domain
(4)

4 Cognitive domain

retehR FeiH &1 #1d f=ifea o 9 foas ofmia omm 82
(1) YT &

(2) TR &

(3) HogATHE &

(4) HIATHS &3
Options:-

.1, Option ID :- 905,
. 2, Option ID :- 906,
. 3, Option ID :- 907,

. 4, Option ID :- 908,
Answer Given:- 2, Option ID : -906

Question ID:- 228

"Empathy’ is an essential trait of 3

(1) Teacher

(2) Doctor

(3) Professional counseller
(4) Lawyer

‘Ferufa’ Frerifa § & fora s e 32

(1) SAATIH
(2) fafecEs
(3) SAEHITH THIEH
(4) F&HEA

Options:-

.1, Option ID :- 909,
. 2, Option ID :- 910,
. 3, Option ID :- 911,

. 4, Option ID :- 912,
Answer Given:- 1, Option ID : -909

Question ID:- 229




The following could be an example of physical disability :
(1) Cerebral Palsy

(2) Autism
(3) Dyslexia
(4) Dysgraphia

Fr=ifera o 9 1 iR feeimar 1 S8R 8 Jaha © 2
(1) Hee gredl (gafer=hg =)

(2) &ifesH
(3) Tewifeaan
(4) Teniwa
Options:-

.1, Option ID :- 913,
. 2, Option ID :- 914,
. 3, Option ID :- 915,

. 4, Option ID :- 916,
Answer Given:- 2, Option ID : -914

Question ID:- 230

Which one of the following can be attributed to ‘Cognitivism” ?
(1) Drawing

(2) Painting

(3) Problem-solving
(4)

4 Rote memory

fa=ifra § 9 f58 HamrcaeRare’ I Ha1 € S SRl 8 2

Options:-

.1, Option ID :- 917,
. 2, Option ID :- 918,
. 3, Option ID :- 919,

. 4, Option ID :- 920,
Answer Given:- 3, Option ID : -919

Question ID:- 231




Which one of the following is the secondary socialising agency in the context of learning ?
(1) Family

(2) Home
(3) School
(4) Media

AAftrm & Hed ° =il § 9 = fgdiaes g usid 8 2

(1) YREr

(2) T

(3) feramera

(4) SEEER HEIH
Options:-

.1, Option ID :- 921,
. 2, Option ID :- 922,
« 3, Option ID :- 923,

. 4, Option ID :- 924,
Answer Given:- 3, Option ID : -923

Question ID:- 232

The “‘Learning’ at home comes under :
(1) Contextual Learning

(2) Formal Learning
(3) Informal Learning
(4)

4 Non-formal Learning

‘g W e freifera o | fopmer farta et &2

(1) HevuwF sfermy

(2) Srq=niER AR
(3) TR-sirv=nia st
(4) =R afad
Options:-

.1, Option ID :- 925,
. 2, Option ID :- 926,
. 3, Option ID :- 927,

. 4, Option ID :- 928,
Answer Given:- 3, Option ID : -927

Question ID:- 233




Acquiring "Milestones” at regular stages of child growth known as :

(1) Maturation

(2) Growth

(3) Skill development

(4) Developmental Tasks

o7 o fas™ =i FHafag yeeeneti § He & e il TS AT 1 HEdl § 2

(1) gfRgeE

2) 9fs

(3) v foerrE

(4) fosrEHs *E
Options:-

.1, Option ID :- 929,
« 2, Option ID :- 930,
« 3, Option ID :- 931,

. 4, Option ID :- 932,
Answer Given:- 4, Option ID : -932

Question ID:- 234

The Socio-emotional dimension of child can be explained through :
(1) Feeling

(2) Facial expression

(3) Loud thinking
(4)

4 Sleeping

A% &1 IS -aeqe 3Em fe=ifea § 9 frds meam § oga fwa s 951 22

(1) erg4fa
(2) =B W BEAUE
(3) HER fea
(4) A
Options:-

.1, Option ID :- 933,
. 2, Option ID :- 934,
. 3, Option ID :- 935,

. 4, Option ID :- 936,
Answer Given:- 3, Option ID : -935

Question ID:- 235




What is the role of ‘Maturation” in learning ?

(1) It determines readiness in learning

2 It facilitates achieving milestones

(2)
(3) It promotes memory
(4)

4 It would fix learning goals

stferme ¥ ftaedr i @ e €2

(1) 759 sIferm % fere qoman fRuffia @dt 21
(2) TEd fuifta @ier ara e H T g g
(3) =EH T vk fererfaa Bt €1

(4) 399 Afery & @e g 2

Options:-

.1, Option ID :- 937,
. 2, Option ID :- 938,
« 3, Option ID :- 939,

« 4, Option ID :- 940,
Answer Given:- 2, Option ID : -938

Subject : UTL_Q56-Q70_PGTECO

Question ID:- 236

Spenser describes education as :
(1) Self learning

(2) Preparation for life

(3) Complete living

(4) Meaningful life

THL o TER e g
(1) -t

(2) S T dA
(3) Ui SeA-fate
(4) g S
Options:-

.1, Option ID :- 941,
« 2, Option ID :- 942,
. 3, Option ID :- 943,

« 4, Option ID :- 944,
Answer Given:- 1, Option ID : -941

Question ID:- 237




The behavioural learning theory is associated with :
(1) Environment

(2) Stimulus - response
(3) Peer pressure
(4) Heredity

et E Al fagia f=ifea o 9 gy defug 2

Options:-

.1, Option ID :- 945,
. 2, Option ID :- 946,
. 3, Option ID :- 947,

. 4, Option ID :- 948,
Answer Given:- 2, Option ID : -946

Question ID:- 238

Name the branch of philosophy that propounded project method :
(1) Naturalism

(2) Idealism
(3) Pragmatism
(4) Realism

fees v faas uftdsmn fafy yem &1, @0 2

(1) v

(2) SAERER

(3) AERIEHER

(4) Femefarg
Options:-

.1, Option ID :- 949,
. 2, Option ID :- 950,
. 3, Option ID :- 951,

. 4, Option ID :- 952,
Answer Given:- 3, Option ID : -951

Question ID:- 239




What is constructivism in learning ?
(1) Learning through logic

(2)
(3) The learner develops knowledge with the help of previous knowledge
(4) Learning by memory

Learning by doing

siferm § TeATarg § P sfila €2

(1) ek = T1e99 § A

(2) THEH F 7T

(3) @AfermaeRat sTan gd sifSia F ot werm ¥ 9 fawfad s B
(4) wfa & AreAm 9§ Aty

Options:-

.1, Option ID :- 953,
. 2, Option ID :- 954,
. 3, Option ID :- 955,

. 4, Option ID :- 956,
Answer Given:- 2, Option ID : -954

Question ID:- 240

According to psychologists-what is ‘learning’ ?

(1) Directed behaviour

(2) Positive altered behaviour
(3) Focused behaviour

(4) Fixed behaviour

RIS o SATHR ‘ SAftrm’ e ?

(1) fefem =EEr
(2) HHERHF gfEfdd SAaER
(3) “hied SRR
(4) Tud =a9ER
Options:-

.1, Option ID :- 957,
« 2, Option ID :- 958,
. 3, Option ID :- 959,

« 4, Option ID :- 960,
Answer Given:- 2, Option ID : -958

Question ID:- 241




What should be the ideal classroom environment for effective learning ?
(1) Well decorated classroom

(2) Well ventilated classroom

(3) Well equipped with AV aids classroom

(4)

4) Non-threatening and supportive environment

guret ATy & fau eeyl e Fa-uiew ¥ o famm g =fey 2
(1) gafes wHan

(2) fooged TR AP Hal

(3) 95 T STV Hell

(4) 9T i TEEE A
Options:-

.1, Option ID :- 961,
. 2, Option ID :- 962,
. 3, Option ID :- 963,

. 4, Option ID :- 964,
Answer Given:- 4, Option ID : -964

Question ID:- 242

Learning by doing is example of :
(1) Activity based learning

(2) Experiential learning
(3) Cognitive learning
(4) Classical learning

FEHT & Arem § sftrm fAeifed o 9 e 3eR € 2
(1) o smenfi st

(2) STYERHF HAfH
(3) HIAMTHEF AT
(4) O AT
Options:-

.1, Option ID :- 965,
« 2, Option ID :- 966,
. 3, Option ID :- 967,

« 4, Option ID :- 968,
Answer Given:- 2, Option ID : -966

Question ID:- 243




A student found helping the blindman to cross the road. It comes under :
(1) Social activity

(2) Community service

(3) Hidden curriculum

(4) Morality

ue faganedl i el 319 =afad =1 T2 IR 30d BU @ 741 | 98 Ficd Feiferd § 4 forment 4o § smam ?
(1) IS e

(2) HTETEE Ha
(3) AU WA=
(4) Afdemar

Options:-

.1, Option ID :- 969,
. 2, Option ID :- 970,
. 3, Option ID :- 971,

. 4, Option ID :- 972,
Answer Given:- 4, Option ID : -972

Question ID:- 244

A Democratic curriculum should have the following character :
(1) Entertainment

(2) Leisure
(3) Study tour
(4) Development of integrated personality

aArrdifae qeawd ¥ fifed § 9 %9 91 994 e Jifey, ?

(1) FARSHA

(2) 3EH™

(3) =AW

(4) Uehid Al 1 fasE
Options:-

.1, Option ID :- 973,
. 2, Option ID :- 974,
. 3, Option ID :- 975,

« 4, Option ID :- 976,
Answer Given:- 4, Option ID : -976

Question ID:- 245




ICT applications in school education enhances :
(1) Enhances peer learning

(2) Creativity and thinking skills

(3) Interest

(4) Attention

3

oren H o1 o 2 & 1w A frifra | 9 frgen dadq dm 2

(1) =59 quweaia sfrm § sifvafg 2 21
(2) TEH geriierar iR fo v aear @
(3) oififa wedt 71

(4) =9F T e

Options:-

.1, Option ID :- 977,
. 2, Option ID :- 978,
. 3, Option ID :- 979,

. 4, Option ID :- 980,
Answer Given:- 3, Option ID : -979

Question ID:- 246

What is the purpose of assessment in school education ?
(1) To measure ability of understanding

(2) To assess the subject knowledge
(3) Remediation and counselling
(4) To find out week areas of the child
hell e H TR & #1 Jae © 2
(1) |9 &I AT A {9
(2) foma M 1 g
(3) THIHM 3 wHe
(4) STETeh] % gacl 9& ST
Options:-

.1, Option ID :- 981,
. 2, Option ID :- 982,
. 3, Option ID :- 983,

. 4, Option ID :- 984,
Answer Given:- 3, Option ID : -983

Question ID:- 247




The students can learn better through the activities :
(1) Conducted in school
Conducted out side the school

(2)
(3) Involvement of students in various community related program
(4) School laboratory

Tageft faeifera § 4 form Frfwand & qeg § Jga 2Iferm ure o 9% g 2
(1) Toemem § sEtsa

(2) Toreme™ € 9L TS

(3) fafsr= ameire weiwd o faenfeE ot ariert

(4) Togame™ &1 yEmmeen

Options:-
.1, Option ID :- 985,

2

« 2, Option ID :- 986,
. 3, Option ID :- 987,

. 4, Option ID :- 988,
Answer Given:- 3, Option ID : -987

Question ID:- 248

Which of the following quality is essential among school leaders ?
(1) Democratic attitude

(2) Transformation leadership
(3) Dictatorship
(4) Servant leadership

oo & el  frifera § 9 form qon =01 2 erfemd @2

(2) TUEHR AgA
(3) GHRIE!

(4) AR
Options:-

.1, Option ID :- 989,
« 2, Option ID :- 990,
. 3, Option ID :- 991,

. 4, Option ID :- 992,
Answer Given:- 1, Option ID : -989

Question ID:- 249




What should be the quality of school development plan ?
(1) Adequate fund should be provides

(2) Teachers training program to be carried out

(3) Should have scope for student activities
(4)

4) It should take care of all living and non-living resources for the healthy development of the

school

Toamer™ faesm ST st T[orasn 1 2 =fey 2

(1) garE fafeEr wem = S =nfeu |

(2) Toreges gforerm srdsrs saAfSia feran S =nfee |

(3) faganedl % Hrwem % ffra vaia geme 2 =t

(4) =HH @pd & Wy T & fau wsie $i) i H SEeEl &1 2 W& S =9ifee |

Options:-

.1, Option ID :- 993,
« 2, Option ID :- 994,
. 3, Option ID :- 995,

« 4, Option ID :- 996,
Answer Given:- 4, Option ID : -996

Question ID:- 250

What is the quality of good time-table in school ?
(1) It should take care of co-curricular activities

(2) It should take care the requirement of teachers, students and administration
(3) Itshould take care of leisure time activities

(4) It should take care of exam schedule

oo o 390 goE-arfas § @1 1o 2 =fen 2

(1) T9H 93-Urea=a 1 M &l Sl =i |

(2) =9 e, faenfeldl siR woTs it STEvaEal 1 S W@ S =@e |

(3) THH TR o HHA H i S =l Tiafafei = sam v s =y

(4) =EH wlen i S (YSYA) F A W@ S = |

Options:-

.1, Option ID :- 997,
. 2, Option ID :- 998,
. 3, Option ID :- 999,

- 4, Option ID :- 1000,
Answer Given:- 2, Option ID : -998

Subject : CCLE SOL PE_Q71-Q80_PGTECO

Question ID:- 251




What is dysgraphia ?

(1) Inability to speak
(2) Inability to learn
(3) Inability to write
(4)

4 Inconsistant use of letters

‘fegiftran’ Fn & 2

(1) o SHefHd

(2) ferTH StaTH

(3) TG &Il

(4) SO 1 STET AR
Options:-

.1, Option ID :- 1001,
« 2, Option ID :- 1002,
. 3, Option ID :- 1003,

. 4, Option ID :- 1004,
Answer Given:- 3, Option ID : -1003

Question ID:- 252

What is the Quantum of Punishment Prescribed for discrimination against Divyangjan ?
(1) Fine upto Rs. 5 lakhs and imprisonment upto 5 years

(2) Fine upto Rs. 5 lakhs and imprisonment upto 2 years
(3) Fine upto Rs. 50000 and imprisonment upto 1 year
(4) Fine upto Rs. 1 lakh and imprisonment upto 10 years

et = |1y dewTe T o S H feRaHl HST S 1 YEHE © 2
(1) 5@ % T 1 T AR 599 T H HRE™

(2) 5 R T T H1 JHA AR 2 T4 T F HRAH
(3) 5,000 %. T T ST AR 1 99 T HREH
(4) 1R %, T SHMA AR 10 T4 T FH1 HREH

Options:-

.1, Option ID :- 1005,
. 2, Option ID :- 1006,
. 3, Option ID :- 1007,

. 4, Option ID :- 1008,
Answer Given:- 2, Option ID : -1006

Question ID:- 253




What is the major challenge in schools to address mental health issues among children ?
(1) TLack of Infrastructure

(2) Lack of Funds
(3) Lack of Professional Counsellers
(4) Lack of will to do

e H arere] i HEfes wre Hedl gaensdi & faru § us 9¢ A 8 ?
(1) SAIHEA = A9

(2) FAfert =1 s

(3) SIS TIFITS i Al

(4) M FHE F TR A

Options:-

.1, Option ID :- 1009,
« 2, Option ID :- 1010,
. 3, Option ID :- 1011,

. 4, Option ID :- 1012,
Answer Given:- 3, Option ID : -1011

Question ID:- 254

Suggest one example of creating partnership with the industry.
(1) Orientation Programmes

(2) School visit to Industry as a study tour
(3) Through vocational training
(4) Industry shares the resources with the schools

TN % Ty "R % g H fifad § 9 v Sert gua e |

(1) afEnes wEw

(2) @1eF9A SR % w9 H faueE #1 =Em H 90

(3) SHaEEIHH qivam % weAn 8

(4) =M I foEnerdl o W 379 HHIEE] 1 |IS BT AfEY
Options:-

.1, Option ID :- 1013,
« 2, Option ID :- 1014,
. 3, Option ID :- 1015,

. 4, Option ID :- 1016,
Answer Given:- 2, Option ID : -1014

Question ID:- 255




What is significance of excursion in school education ?

(1) Entertainment

(2) Promotes belongingness among the children
(3) To break monetany
(4) Part of Project Work

Tormert foren o foreror-SR =1 =201 He € 2

(1) HARSH
(2) THY SIcihl | ST Shi IS 30 2t
(3) USRIl T W& gL HEAT
(4) OFETSH 1 F1 |
Options:-

.1, Option ID :- 1017,
. 2, Option ID :- 1018,
. 3, Option ID :- 1019,

. 4, Option ID :- 1020,
Answer Given:- 2, Option ID : -1018

Question ID:- 256

What is the ‘Living corner in school” ?

(1) Agquarium

(2) Park
(3) Garden
(4) Play field

e | ‘fafgn #H (Siedd e ) #1162
(1) TFfEy

(2)

(3) e

(4) T FH HEH
Options:-

.1, Option ID :- 1021,
. 2, Option ID :- 1022,
. 3, Option ID :- 1023,

. 4, Option ID :- 1024,
Answer Given:- 4, Option ID : -1024

Question ID:- 257




What is the disadvantage of self assessment ?
(1) Reluctant to accept weak areas of the school

(2) Unhealthy comparison with other schools
(3) Self contented attitude
(4) Schools tend to be biased

- S I 1 E § 2

(1) =99 foenme % gda val &1 SR F H fegs wd €
(2) o1 foenerl & e e g 8l gt €

(3) =" Hfe &l sAfvghal

(4) formert § garar qof W STOAM i ygfa g 2
Options:-

.1, Option ID :- 1025,

. 2, Option ID :- 1026,

. 3, Option ID :- 1027,

. 4, Option ID :- 1028,
Answer Given:- 4, Option ID : -1028

Question ID:- 258

NCF 2005 recommends :

(1) Developments of school infrastructure
(2) Better funding for school education
(3) reducing teacher pupil ratio
(4)

4 connecting knowledge to life

TEE (U TreEE w9E), 2005 8§ Freitea § 9 @ fawf w5 wg €2
(1) Toeme™ #i sEEeE =i fawiEd we

(2) foarem | fog o fau g Hfaaa
(3) sreaTyeR fUrsy STUT HI HH HA
(4) FH I SET H Hag Al

Options:-

.1, Option ID :- 1029,
. 2, Option ID :- 1030,
. 3, Option ID :- 1031,

. 4, Option ID :- 1032,
Answer Given:- 4, Option ID : -1032

Question ID:- 259




The newly proposed design of school curriculum is :
(@ 0+ 2+ 247

(2) 5+3+3+4
3) 5+2+3+5
(4 4+3+4+4

faemera =1 =] & fou 99 yeafag sifiee §
(1) 10+2+2+1

(2) 5+3+3+4
(3) & +BFB+H
(4 4+3+4+4

Options:-

.1, Option ID :- 1033,
. 2, Option ID :- 1034,
. 3, Option ID :- 1035,

. 4, Option ID :- 1036,
Answer Given:- 2, Option ID : -1034

Question ID:- 260

RTE Act, 2009 section 19 deals with :
(1) Transfer of students

(2) Recruitment of teachers
(3) Prohibition of unrecognized schools
(4) Formation of school management committee

forer =1 st safuaf=m, 2009 #t &/ 19 § Fifea | 9 fome sysy fommn 7 2
(1) fomnfer =1 wem=iao

(2) AATYHI FHT Wl

(3) TR-vr=ran ure feremeri w1 ity

(4) Toramer weiuA wiafa s e
Options:-

.1, Option ID :- 1037,
« 2, Option ID :- 1038,
. 3, Option ID :- 1039,

- 4, Option ID :- 1040,
Answer Given:- 4, Option ID : -1040

Subject : ECO_Q81-Q180_PGTECO

Question ID:- 261




What will be the value of Mode if value of Median is 35 and value of Mean is 30 ?
(1) 45

(2) 35
3) 325
4) 30

e mifeerent 1 ged 35 TF T 1 96 30 § o Igeish 1 5o 1 BT 2

(1) 45
(2) 35
(3) 325
(4) 30

Options:-

.1, Option ID :- 1041,
. 2, Option ID :- 1042,
. 3, Option ID :- 1043,

. 4, Option ID :- 1044,
Answer Given:- 1, Option ID : -1041

Question ID:- 262

Marks obtained by nine students in economics are the following :
50, 58, 62, 63, 66, 69, 71, 72 and 75. What will be the Median Marks ?

(1) 63
(2) 66
(3) 69
@ 71

SHfre T © 9 BT g ATich 39 YK € :
50, 58, 62, 63, 66, 69, 71, 72 Wd 75

Tifears sie o g 1 B 7

(1) 63

(2) 66

(3) 69

4 71

Options:-

.1, Option ID :- 1045,
. 2, Option ID :- 1046,
. 3, Option ID :- 1047,

- 4, Option ID :- 1048,
Answer Given:- 2, Option ID : -1046

Question ID:- 263




The Mean marks of 100 students were found to be 50. Later on it was found that a score of 55 was
misread as 85. What will be the correct value of Mean ?

(1) 455
(2) 487
(3) 49.7
(4) 505

100 fa=nfei=i & il &1 J1EA 37eF 50 9T T | A€ U1 oAl R U 35 &1 55 & a1 Al 9 85 HE
T 1 | A o HE YT FE ?

(1) 45.5
(2) 48.7
(3) 49.7
(4) 50.5

Options:-

.1, Option ID :- 1049,
. 2, Option ID :- 1050,
. 3, Option ID :- 1051,

. 4, Option ID :- 1052,
Answer Given:- 3, Option ID : -1051

Question ID:- 264

Followings are the Marks of 10 students in statistics in class 121 examination :
48, 50, 36, 48, 72, 90, 47, 60, 48, 36.
What will be the value of Mode ?

(1) 36
(2) 48
(3) 50
(4) 47

aREe el i wen H wifegen fawa # 10 farnfei & siw frefated €
48, 50, 36, 48, 72, 90, 47, 60, 48, 36

T 1 Hed F1 8T 2

(1) 36

(2) 48

(3) 50

(4) 47

Options:-

.1, Option ID :- 1053,
« 2, Option ID :- 1054,

. 3, Option ID :- 1055,
. 4, Option ID :- 1056,




Answer Given:- 2, Option ID : -1054

Question ID:- 265

Identify the correct formula of Harmonic Mean :

| N
M yx-1
N
@ T/
N
3 T+
NX
@ v
T T4 & HEl YA H v
| N
@ Tx-
N
2 Ta/x
N
3 T+
NX
@ 3x

Options:-

.1, Option ID :- 1057,
. 2, Option ID :- 1058,
. 3, Option ID :- 1059,

. 4, Option ID :- 1060,
Answer Given:- 2, Option ID : -1058

Question ID:- 266

What will be the value of standard deviation of the following series ?
10, 20, 30, 40, 50, 60, 70

(1) 10
(2) 15
3) 20
(4) 30




Freafafed SR 2 9 fa=e &1 9o 0 g ?
10, 20, 30, 40, 50, 60, 70

(1) 10
(2) 15
(3) 20
(4) 30

Options:-

.1, Option ID :- 1061,
. 2, Option ID :- 1062,
. 3, Option ID :- 1063,

. 4, Option ID :- 1064,
Answer Given:- 3, Option ID : -1063

Question ID:- 267

Time reversal test is satisfied when ?
(1) Py XPyp=0

(2) Py xPp>1

(3) Py xPy,=1

(4) Py xPp<1

T - IGHIIAl THE H B 8, 57
(I) Py xPyp=0

(2) Py xPy>1

(3) Py xXPyp=1

(4) Py xP,<1
Options:-

.1, Option ID :- 1065,
. 2, Option ID :- 1066,
. 3, Option ID :- 1067,

. 4, Option ID :- 1068,
Answer Given:- 3, Option ID : -1067

Question ID:- 268

Which of the following is/are correct ?

(A) In the short-run, As long as average product increases, marginal product is greater than the
average product.

(B) The average product starts declining before the marginal product.

(1) Only (A) is correct

(2) Only (B) is correct

(3) Both (A) and (B) are correct
(4) Both (A) and (B) are incorrect




frefafea § | #H-91 98t §2
(A) FIETHE B, 9 T AT ICE 93 @1 8l 2, S s, @6 3or 9 wftrew g g
(B) 3rHd IcUre, HH 391G § U8cd 521 YE 7l Sl & |

(1) Fae (A) T

(2) A (B) el §

(3) (A) TS (B) I HE

4) (A wd (B) 3 T €
Options:-

.1, Option ID :- 1069,
. 2, Option ID :- 1070,
. 3, Option ID :- 1071,

. 4, Option ID :- 1072,
Answer Given:- 1, Option ID : -1069

Question ID:- 269

Which of the following is incorrect ?
(1) TFC = AFC x quantity

(2) AVC = TVC/output

(3) SAC = AVC+ AFC

(4) SMC = TC/quantity

Frefafad § 9 -1 T¢ 7@ ¢ 2
(1) TEC = AFC x quantity (H3T)

(2) AVC = TVC/output (SEH)
(3) SAC = AVC+AFC
(4) SMC = TC/quantity (HFEI)

Options:-

.1, Option ID :- 1073,
. 2, Option ID :- 1074,
. 3, Option ID :- 1075,

. 4, Option ID :- 1076,
Answer Given:- 4, Option ID : -1076

Question ID:- 270

In a Cobb - Douglas production function :
q=x"+x,’

If oo+P>1, then the production function exhibits :

(

—t

Increasing returns to scale

2 2

)

)  Constant returns to scale

) Decreasing returns to scale
)

(
(
(

Ny

Cannot be determined on the basis of this information.




T FHTE ST I e H
q=.1'.1°°+x2ﬁ'

g o+ B >1, A SCUGH e U ¢
(1) A = Fga giasa |

(2) TEE R gfawd |

(3) Y9H 1 T wfawe |

(4) 39 gE % YR W Fuifta TE fomen s e
Options:-

.1, Option ID :- 1077,

. 2, Option ID :- 1078,

. 3, Option ID :- 1079,

. 4, Option ID :- 1080,
Answer Given:- 1, Option ID : -1077

Question ID:- 271

In a rectangular hyperbola demand curve, the price elasticity of demand will be :

(1) perfectly elastic
(2) perfectly inelastic
(3) unitary elastic
(4) inelastic

Teh YA SREleT T gk H, A 2l H19d @ird er :

(1) Yuia: @r=eEr

(2) YUid: JAEER

(3) THE AMEER

(4) dEERR
Options:-

.1, Option ID :- 1081,
« 2, Option ID :- 1082,
. 3, Option ID :- 1083,

. 4, Option ID :- 1084,
Answer Given:- 3, Option ID : -1083

Question ID:- 272




Correct formula of Cross elasticity of demand is :

AQy _ Py
(1) —AP; X 0,

P
) AQy Y
APy Qy

AQy . Qx
’J’
G)ap, Py

A0y , Qx
4 AP, By

T = foeet FE O g e
Loy Ty
(J‘) APx xQx
2 AQy Xi
& APy Qy
AQy  Qx

® a5,

AQy  Qy
@ ap o py

Options:-

.1, Option ID :- 1085,
. 2, Option ID :- 1086,
. 3, Option ID :- 1087,

. 4, Option ID :- 1088,
Answer Given:- 2, Option ID : -1086

Question ID:- 273

Which of the following is not correct ?
(1) PX+ PU.Y =M

MP,
(A MRS, =4
Py
(3) MRSJLy = —P_-
y
P
V= R
(4) P. P




Frefafead § 9 sH-1 T€ 7@ ¢ 2
(1) PX+P.Y=M

MP,
(2) MRS, = P
Py
() MRSy =~%°
_M P
@ Y7, 7B,
X ¥
Options:-

.1, Option ID :- 1089,
. 2, Option ID :- 1090,
. 3, Option ID :- 1091,

. 4, Option ID :- 1092,
Answer Given:- 4, Option ID : -1092

Question ID:- 274

Which of the following is/are correct regarding cardinal utility analysis ?
(A) The marginal utility diminishes with increase in consumption of a commodity.
(B) Marginal utility can not be negative

(1) y (A) is correct

(2) (B) is correct

(3) Both (A) and (B) are correct
(4) Both (A) and (B) are incorrect

TUFATETE SYATar faveryor & grery | frefafeg 8 9§ S e w2
(A) U ] * 3w H gfg w1 & Wy 30y faem el S SeEfi ged # )
(B) HrH IURTAN HcHeF el &1 Gehel |

= fou 1T e § wé W * g
(1) Fad (A) T& T

(2) Fad (B) HEl Tl

(3) (A (B) S W€

(4) (A)TE (B) S T |
Options:-

.1, Option ID :- 1093,
. 2, Option ID :- 1094,
. 3, Option ID :- 1095,

. 4, Option ID :- 1096,
Answer Given:- 1, Option ID : -1093

Question ID:- 275




Which of the following is not correct ?
(I) The long run average cost curve is U shaped.

(2) The downward sloping part of long run average cost curve corresponds increasing returns
to scale.

(3) The upward sloping part of long run average cost curve corresponds decreasing returns to
scale.

(4) Long run average cost curve cuts the long run marginal cost curve at its minimum point.

Frefafed § 9 99 g6 @& 8 2

(1) CrefRTe ST d @R ash U ST 1 2l ¢ |

(2) SrelnTel S @FTd dok ol e @i ST fTRAT g1 T 99 o Sed Widwa i guiar B
(3) EIETRTE Sd TG 9 ST R 1 ST S g YN Y9 6 S Ufawe i g 7
(4) SrEiRTE BRI TG Sk SreRTel STHINI TRTd a5k <l SHb =Jad fog T Hed |

2

Options:-

.1, Option ID :- 1097,
« 2, Option ID :- 1098,
. 3, Option ID :- 1099,

. 4, Option ID :- 1100,
Answer Given:- 4, Option ID : -1100

Question ID:- 276

In case of Perfect Competition, which one is not correct ?
(I) Marginal revenue is equal to the price.

(2) Average revenue is higher than the price.
(3) Average revenue is equal to the price.
(4) At equilibrium, Market demand is equal to Market supply.

oo gfifiTan o Hesl #, F-9 9el e § 2

(1) TR 30T FiOd 2 IO 2§

(2) oiEd e Fwmd | A G g

(3) oirEd ST Fivd F HHH B ¥

(4) HqeH el H, FeiR {1 aeR ufd & 9 gt 2
Options:-

.1, Option ID :- 1101,

. 2, Option ID :- 1102,

. 3, Option ID :- 1103,

- 4, Option ID :- 1104,
Answer Given:- 2, Option ID : -1102

Question ID:- 277




A binding floor price leads to :
(1) Excess demand

(2) Excess supply
(3) Shortage of demand
(4) Shortage of supply
ek YTell =IAqH whiHd o R :
(1) w1 s7ferer 2
(2) f enferza B
(3) TR ! BN
(4) gfd =i =T 20T
Options:-

.1, Option ID :- 1105,
« 2, Option ID :- 1106,
. 3, Option ID :- 1107,

. 4, Option ID :- 1108,
Answer Given:- 2, Option ID : -1106

Question ID:- 278

If Price Ceiling is binding in wheat market, it will lead to a situation of :
(1) Shortage of demand

(2) Shortage of supply

(3) Excess demand

(4) Excess supply

Ife g & S H sifesray v gaEt 8 o
(1) =T H e gl

(2) gfd & =t grft
(3) T enfasrr =t feafa st
(4)  gfd snfeers st fefa st |

Options:-

.1, Option ID :- 1109,
. 2, Option ID :- 1110,
. 3, Option ID :- 1111,

. 4, Option ID :- 1112,
Answer Given:- 3, Option ID : -1111

Question ID:- 279




Given the following demand and supply equations :

Q4 = 1200-P

Q. =90+2P

What will be equilibrium price ?
(1) 100

(2) 200

(3) 300

(4) 700

e 73 = wd gfd e F
Q4 = 1200—p

Q, = 900+2P

ISR H He shimd &1 201 2
(1) 100

(2) 200

(3) 300

(4) 700
Options:-

.1, Option ID :- 1113,
. 2, Option ID :- 1114,
. 3, Option ID :- 1115,

. 4, Option ID :- 1116,
Answer Given:- 1, Option ID : -1113

Question ID:- 280

If the total expenditure on a good and its price move in opposite direction, the price elasticity will
be :

(1) Equaltol
(2) More than 1
(3) Lessthanl
(4) Zero

I U %] W Fel 44 TS 39 a5 i Hiwa foudia fewn § =el @1 Hidd e e

(1) 1% =594
(2) 1% e
3) 18 %4
(4) A
Options:-

.1, Option ID :- 1117,
« 2, Option ID :- 1118,
. 3, Option ID :- 1119,




. 4, Option ID :- 1120,
Answer Given:- 2, Option ID : -1118

Question ID:- 281

The shape of unitary elastic demand curve will be :
(1) Rectangular hyperbola

(2) Horizontal
(3) Vertical
(4) Linear

THTS I | ek 1 AR AT ¢

(1) YFIER FETEE
(2) fafds (Horizontal)
(3) dad (Vertical)
(4) Y@M (Linear)

Options:-

.1, Option ID :- 1121,
. 2, Option ID :- 1122,
. 3, Option ID :- 1123,

. 4, Option ID :- 1124,
Answer Given:- 1, Option ID : -1121

Question ID:- 282

Which of the following is true in case of Giffen goods ?
(1) Income effect = Substitution effect
(2) Substitution effect > Income effect
(3) Income effect > Substitution effect
(4)

4 Income and substitution effect work in same directon.

it g & Heiy § frafafes § 4 @ @ 82
(1) ™ YHTe = Fiaemss g9

(2) eI qE > 3 Y9

(3) ™ quE > HiqEATT g

(4) 217 Ud YA gue U 6 feen H Feid 2
Options:-

.1, Option ID :- 1125,

. 2, Option ID :- 1126,

. 3, Option ID :- 1127,

- 4, Option ID :- 1128,
Answer Given:- 3, Option ID : -1127

Question ID:- 283




The demand for a good and the price of its complementary goods will be related.
(1) Positively

(2) Negatively
(3) Will have no relation
(4) Positively and proportionally

ek 9% I | TS g5k T 9% i hITd Gard & :
(1) oS &9 H|

Options:-

.1, Option ID :- 1129,
. 2, Option ID :- 1130,
. 3, Option ID :- 1131,

- 4, Option ID :- 1132,
Answer Given:- 2, Option ID : -1130

Question ID:- 284

Suppose X and Y are substitute goods and if Price of Y increases, the demand curve of X will :
(1)  Shift rightward

(2) Shift leftward

(3) Remain same
(4)

4 Indeterminate

T e X Td Y S S ol # oiR Afe Y Y e st § O X 9% % A5 9w o
(1) =N &t AR fagese 2

(2) @M i AR e g
(3) IS TS &I AT |
(4)  SAfTERi |

Options:-

.1, Option ID :- 1133,
. 2, Option ID :- 1134,
. 3, Option ID :- 1135,

. 4, Option ID :- 1136,
Answer Given:- 4, Option ID : -1136

Question ID:- 285




The demand functions of two consumers A and B are given as :
dy, =10—-P
dg =15-P
If the price is more than 15, the quantity demanded by A and B respectively are :

(1) Oand1
(2) 1landO
3) 5and0
(4 0and0

21 SUNIHT A TS B & 41 %A 39 TR G T ¥

d, =10-P

dy=15-P

7fg Hiva 15 § 2ifass 8, @ A T B gRI1 HH: TR T 1 g6

(1) 07Ts1
2) 1W0
(3) 5T0
4) 0wWE0
Options:-

.1, Option ID :- 1137,
« 2, Option ID :- 1138,
. 3, Option ID :- 1139,

. 4, Option ID :- 1140,
Answer Given:- 3, Option ID : -1139

Question ID:- 286

Which of the following is not correct in case of Perfect Competition ?
(1) Large Market power

(2) Homogenous product
(3) Perfect information
(4) Free enfry and exit

guf yfeeifitar % Heiw H frefafes § 4 sh-o @ 78 22
(1) siferer STeR wIfer

(2) WHETEH
(3) gul: SR
(4) W STETTHA

Options:-

.1, Option ID :- 1141,
. 2, Option ID :- 1142,
. 3, Option ID :- 1143,

. 4, Option ID :- 1144,




Answer Given:- 1, Option ID : -1141

Question ID:- 287

Which of the following Conditions is/are true for a profit maximizing perfectly competitive firm,
when profit is positive ?

(A) MR =MC
(B) MC curve is downward sloped at the profit maximizing level of output.
(C) Price is greater than AVC in the short run.

(1) Only (A)

(2) Only (A) and (B

(3) Only (A) and (C )
(4) All(A), (B) and (C)

el e Gk 2, il freferfiad § 9 h-di taeen U stfuendy oy Wit Seed aell, ol i wH 6
foru w&@t €72

(A) MR =MC

(B) Ifrshem @Y % IeqeH TR folg TR MC a3k i<l @t SR firean gem grm i

(C) Ieyahtel § ®ivd AVC | fere 2l ¢

(1) e (A)

(2) e (A) T (B)

(3) HEe (A) W (C)

(4) =&t (A), (B)TH (Q)
Options:-

.1, Option ID :- 1145,
« 2, Option ID :- 1146,
. 3, Option ID :- 1147,

. 4, Option ID :- 1148,
Answer Given:- 3, Option ID : -1147

Question ID:- 288

Which of the following reason is/are responsible for shift the supply curve of a firm towards
left ?

(A) Technological Progress.
(B) Increase in input Prices.

(C) Imposition of a unit tax.

(1) Only (A)

(2) Onlv (A) and (B)
(3) Only (B) and (C)
(4) Only (A) and ()




T FH i gfd 9k B AT i R famse gt Saert SR -4 § 2
(A) TR A

(B) TTd &wiAd | Ifg

(C) e SHT T T AIE

(1) e (A)

(2) e (A) T (B)
(3) %@ (B) W (C)
(4 FaE (A) T (O
Options:-

.1, Option ID :- 1149,
. 2, Option ID :- 1150,
. 3, Option ID :- 1151,

. 4, Option ID :- 1152,
Answer Given:- 3, Option ID : -1151

Question ID:- 289

In Perfect Competition, the demand curve faced by a firm is :
(1) Perfectly elastic

(2) Perfectly inelastic
(3) Unitary elastic
(4) Inelastic
g yfcenfiTan §, sk wH 1 90 9g e
(1) qUid: S=ER
(2) qUid: SerEER
(3) EHE AHEK
(4) S=ER
Options:-

.1, Option ID :- 1153,
. 2, Option ID :- 1154,
. 3, Option ID :- 1155,

. 4, Option ID :- 1156,
Answer Given:- 1, Option ID : -1153

Question ID:- 290

Given the supply curve, if demand curve shifts rightward ; the equilibrium quantity and equilibrium
price respectively will :

(1) increase and decrease

(2)

(3) decrease and decrease
(4)

decrease and increase

increase and increase




9ftf ok fer T W, afs | o Sl it SR fagsa § o Sger 5 ud Sqer S HEe
(1) =g T =

(2) ERT TS S

(3)  E WH B |

(4) = UE = |
Options:-

.1, Option ID :- 1157,
« 2, Option ID :- 1158,
. 3, Option ID :- 1159,

. 4, Option ID :- 1160,
Answer Given:- 1, Option ID : -1157

Question ID:- 291

In a Perfectly Competitive Market, each firm employs labour upto the point where Marginal
revenue product of labour is :

(1) equal to the price of good produced by the firm

(2) equal to wage rate
(3) less than the wage rate
(4) both1and?2

e g Fieifimar <R o, Teis WH 39 fog a9 99 &1 @it <iel 99 o HiEh ST S
(1) W gR Scaifed =% = Shied & Ge 8 |

(2) HSIEH & % HAM BRI
(3) HIgH & Y FH B |
(4) 171d 23N

Options:-

.1, Option ID :- 1161,
. 2, Option ID :- 1162,
. 3, Option ID :- 1163,

. 4, Option ID :- 1164,
Answer Given:- 4, Option ID : -1164

Question ID:- 292

If 25 percent increase in price of a good leads to 15 percent decrease in its quantity demand then
the price elasticity of demand will be :

(1) Lessthan1
(2) Equaltol
(3) More than 1
(4)

4) Equal to =




=Ife awq i wivd § 25 yfoem gfg 87 v Rt et 72 gmn § 15 yfaed 1 w2 § d 19 w6 wied |
ferat &t ?

(1) %% 9 %A

(2) THE F A

(3) THE W AYE

(4) 399 & §HA
Options:-

.1, Option ID :- 1165,
« 2, Option ID :- 1166,
. 3, Option ID :- 1167,

. 4, Option ID :- 1168,
Answer Given:- 1, Option ID : -1165

Question ID:- 293

When AR Curve is downward slopping, MR curve will be ?
(1) Steeper than the AR Curve

(2) Flatter than the AR Curve
(3) Parallel to the AR Curve
(4) Both 1 and 3.

@ 3i9d (AR) SARTH &5F H9 & 714 Sl S 2T a1 HHT S (MR) 95 ¢
(1) i I (AR) =5 ¥ 1feh 371 gaT 2 |

(2) A 3FT (AR) 936 § =92 BT

(3) 3T 3IFTH ad o THHRL BT |

(4) 1 33 M

Options:-

.1, Option ID :- 1169,

« 2, Option ID :- 1170,

. 3, Option ID :- 1171,

. 4, Option ID :- 1172,
Answer Given:- 1, Option ID : -1169

Question ID:- 294

Ina Perfectly Competitive Market, the Total Revenue increases at :
(1) Increasing rate
(2) Decreasing rate
(3) Constant rate
(4)

4 Does not increase




e quf yieifimar SR § Fer ST e ©

(1) =&d gL HI

(2) ®=ed gL HI

(3) ferzrd|

(4) =@ A gl
Options:-

.1, Option ID :- 1173,
. 2, Option ID :- 1174,
. 3, Option ID :- 1175,

. 4, Option ID :- 1176,
Answer Given:- 3, Option ID : -1175

Question ID:- 295

Suppose market price of a commodity increases from Rs. 5 to Rs. 20. As a result quantity supplied
by a firm increases by 15 units. The price elasticity of supply is 0.5. What is the initial output of this
firm ?

(1) 30
2) 15
(3) 10
49 5

T o Ueh o o SISTR hiHed 5 T99 9§ Sght 20 T99 B Sl & | TRUTHEEy Uk WH 5R1 39 a5 @i i
FTHETH 15 THE i gig & S € | Yfd 61 Hed o 0.5 € | FH 1 GRIYE SeaeT &t H1E fhaer €2

(1) 30
(2) 15
(3) 10
4 5

Options:-

.1, Option ID :- 1177,
. 2, Option ID :- 1178,
. 3, Option ID :- 1179,

- 4, Option ID :- 1180,
Answer Given:- 3, Option ID : -1179

Question ID:- 296

In the short run, shut down point of a firm is when ?

(1) P >AVC
(2) P < AVC
(3) P > SMC
(4) P =SAC




SITUHTA H, TFh TH ol I fog Bl 2, &4 :

(1) P >AVC
(2) P < AVC
(3) P >SMC
(4) P =5AC
Options:-

.1, Option ID :- 1181,
. 2, Option ID :- 1182,
. 3, Option ID :- 1183,

. 4, Option ID :- 1184,
Answer Given:- 2, Option ID : -1182

Question ID:- 297

Which of the following is/are correct ?
(A) A Consumer’s perferences, in general, can be shown by an indifference map.
(B) A Consumer’s preferences, in general, can also be shown by a utility function.

(1) Only (A)

(2} Only(B)

(3) Both (A) and (B)

(4) Neither (A) nor (B)
Frefefea § & wr-w W@ 2

(A) T YT T MATHHAT, RO SATEEE WA % gR1 Suian S Fehar € |
(B) Uk U T WATHHMST i, WIEROTE: Teh SUAATA Ferw o gRI ot Suin 51 ¥ €1

(1) Fae (A)

(2) A (B)

(3) (A)TH (B)
(4) ¥ (A)3iRTE (B)

Options:-

.1, Option ID :- 1185,
« 2, Option ID :- 1186,
. 3, Option ID :- 1187,

. 4, Option ID :- 1188,
Answer Given:- 3, Option ID : -1187

Question ID:- 298

Budget deficit is :

(1) the difference between all reciepts and all the expenditure
(2) fiscal deficit minus repayment of loan.

(3) fiscal deficit minus interest payments
(4)

4)  the difference between revenue receipts and revenue expenditure.




WW@W%

(1) =l Wit wad it =@ = == &l =R
(2) TSTERIY | - 0T YIAH

(3)  TSTERINIA =21 — BT ST

(4) TTEE Wil Ua TS 91 o 6 Sl SR

2

Options:-

.1, Option ID :- 1189,
« 2, Option ID :- 1190,
. 3, Option ID :- 1191,

. 4, Option ID :- 1192,
Answer Given:- 1, Option ID : -1189

Question ID:- 299

The Gini Coefficient is used to measure :
(1) Inflation rate

(2) Budget deficits

(3) Unemployment rate
(4)

4) Inquality of income

fireft wqories =1 W feRment Ao o ferg fepan e & 2
(1) Harhifd

(2) S =R

(3) SRR =X

(4) A F SHHMA
Options:-

.1, Option ID :- 1193,
. 2, Option ID :- 1194,
. 3, Option ID :- 1195,

. 4, Option ID :- 1196,
Answer Given:- 4, Option ID : -1196

Question ID:- 300

In the situation of Liquidity trap, which is correct ?
(A) Interest rates are high
(

B) Monetary policy becomes ineffective

(1) Only (A)

(2) Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)




A ST o1 STEE H, -9 Wal ¢ 7
(A) =TS ST STcAafaeh B |
(B) Hifges Afar staemet 21 St 2

(1) had (A) |

(2) Had (B)|

(3) (A)Td (B) Tl

(4 F(A)RAFE B)!
Options:-

.1, Option ID :- 1197,
« 2, Option ID :- 1198,
. 3, Option ID :- 1199,

. 4, Option ID :- 1200,
Answer Given:- 2, Option ID : -1198

Question ID:- 301

Who among the following was the Chairman of the National Commission on Farmers, constituted
by the UPA Government in November 2004 ?

(1)  Abhijit Sen

(2) Jagdish Bhagwati
(3) Ashok Mathur
(4) M. S. Swaminathan

qatR 2004 H 7,910, TR gR1 Tfed Fushl W S FHIYA *1 ey frefafea § 9 wE 9 ?

(1) st &4

(2) SR St

(3) ST HIYT

(4) THTH SHAEA
Options:-

.1, Option ID :- 1201,
. 2, Option ID :- 1202,
. 3, Option ID :- 1203,

. 4, Option ID :- 1204,
Answer Given:- 4, Option ID : -1204

Question ID:- 302




Which of the following is/ are not included in the revenue expenditure of the govt. of India ?
(A) Subsidies

(B) Interest Payments

(C) Repayment of Loans

(D) Salaries of govt. employees

(A) Rt

(B) AT YT

(C) R <Rl YIdH

(D) EIHRI FHHAME T &
(1) e (B) T (C)

(2) S (B)

(3) @@ (C)

Options:-

.1, Option ID :- 1205,
« 2, Option ID :- 1206,
. 3, Option ID :- 1207,

. 4, Option ID :- 1208,
Answer Given:- 3, Option ID : -1207

Question ID:- 303

Demand Pull inflation occur due to;
(A) High growth of population
(B) Black money in an economy
(C) Deficit financing

(1) y (A) and (B)

(2) Only (A) and ( )
(3)  Only (B) an

(4) Al (A), (B) and (C)




(A) SEEn H sifys gfg dn |
(B) U iefexewen H el ¥F &1 H|
(C) e = foa =raeen|

(1) e (A) W& (B)

(2) o (A) T ()

(3) wId (B) W (C)

(4 (A), (B) T (C) Tt
Options:-

.1, Option ID :- 1209,
. 2, Option ID :- 1210,
. 3, Option ID :- 1211,

. 4, Option ID :- 1212,
Answer Given:- 4, Option ID : -1212

Question ID:- 304

Which of the following would not help Govt. of India towards fiscal consolidation ?
(1) Reducing subsidies
(2) Getting more loans
(3) Increasing taxes
(4)

4)  Bringing efficiency in expenditure

frefafed §, § HH-9 YRG SR 1 TSHEE G924 § Heddl T2l s 9 2
(1) SR o 4 &

(2) AR TR BT o

(3) T H Fgfg HE

(4) =4 H FIATN Al
Options:-

.1, Option ID :- 1213,
. 2, Option ID :- 1214,
. 3, Option ID :- 1215,

. 4, Option ID :- 1216,
Answer Given:- 4, Option ID : -1216

Question ID:- 305

Which of the following is not a reason for deflation ?
(1) Reduction in money supply

(2) Reduction in investment spending

(3) Reduction in credit availibility
(4)

4)  Reduction in policy rates by RBI




FrreAfefad § & SH-81 SRt = R0 78 &2

(1) TR I H

(2) Traw = | w0

(3) @ I YA H HH

(4) SMLELSTE. (RBI) BN ifd <4 | sHH
Options:-

.1, Option ID :- 1217,
. 2, Option ID :- 1218,
. 3, Option ID :- 1219,

. 4, Option ID :- 1220,
Answer Given:- 4, Option ID : -1220

(1)
(2
(3)
(4)

(D)

(2
(3)
(4)

Question ID:- 306

Phillips curve shows the relationship between :

Rate of unemployment and rate of interest

Rate of unemployment and rate of GDP growth
Rate of unemployment and rate of poverty

Rate of unemployment and rate of inflation

frferey aeh, Sy i §

ST 1 o TH = A

e % T S, gfg-w e
ST # ¥ T T g o |
TR 7 T e 2 3

Options:-

.1, Option ID :- 1221,
. 2, Option ID :- 1222,
. 3, Option ID :- 1223,

. 4, Option ID :- 1224,
Answer Given:- 4, Option ID : -1224

(A)

(B)
(©

— e~~~
= 02 D =
A s e

Question ID:- 307

Which of the following is/are not correct about Banking Ombudsman scheme ?

This scheme was introduced by RBI (Under Section 35A) in 1995
This scheme is for redressal of Customers Complaints against banks

Under this scheme banks do not have the option to appeal before the appellate authority

y (A)
Only (B)
Only (O)
Only (A) and (O)




Sfeh wrerarer Ars % Hay H, A § | wA-wA wd @ © 7

(A) I8 AT AR S, 5 (STT=HE-35A & Ted) ad 1995 H & foharn |

(B) % AISHI ekl & Fgel® SuHET o Rkl o frame & fore g

(C) 59 FSHI & SF=ria Sl o Irg sTiferde HenfEt & gmer oTdict &3 1 fashed Sy &l B 71

(1) = (A)
(2) = (B)
(@) wId (C)
(4) FEE (A) T (O

Options:-

.1, Option ID :- 1225,
. 2, Option ID :- 1226,
. 3, Option ID :- 1227,

. 4, Option ID :- 1228,
Answer Given:- 4, Option ID : -1228

Question ID:- 308

Which of the following is not correctly matched ?

List I List II
(Banks) (Headquarter)
(1) Corporation Bank = Mangalore
(2) Bank of India _ Mumbai
(3) Punjab National Bank _ Patiala
(4) Allahabad Bank _ Kolkata

frafafea § § @F-1 wd foem =& €72
-1 Tet-11

(s ) (qE=TeE )
(1) HURH % - AR
(2) e E e - qrelg
(3) S YA Heh - gfearen
(4) TARER S - I
Options:-

.1, Option ID :- 1229,
. 2, Option ID :- 1230,
. 3, Option ID :- 1231,

. 4, Option ID :- 1232,
Answer Given:- 3, Option ID : -1231

Question ID:- 309




M. S. Verma Committee was related to :
(1) Rural development bank

(2) Restructuring of rural banks

(3) Inflation targeting
(4)

4 Monetary Policy Committee

.Y, aqi gfafq fred gefea ar?
(1)  wror forep S

(2) oo SR o gAve

(3) HERRITd @&

(4) ifze ifa wfafa
Options:-

.1, Option ID :- 1233,
« 2, Option ID :- 1234,
. 3, Option ID :- 1235,

- 4, Option ID :- 1236,
Answer Given:- 3, Option ID : -1235

Question ID:- 310

Which of the following pair is not correctly matched ?
(1) RBI - Lender of last resort

(2) EXIM Bank - Financing export and import

(3) ICICI - Public Sector bank

(4) NABARD - Rural development

Frafafed § 4 -9 S % fiear |98 7@ ¢ 2
(1) SIRENSTE. - Sifqd R

(2) EXIM S% - I wd fara 1 faa

(3) ICICI - Hrdsif-ieh & &l deh

(4) NABARD - TTH0 faerm

Options:-

.1, Option ID :- 1237,
. 2, Option ID :- 1238,
. 3, Option ID :- 1239,

. 4, Option ID :- 1240,
Answer Given:- 3, Option ID : -1239

Question ID:- 311




Which of the following statement is/are correct ?
(A) RBI changes the repo rate every month to control the money supply in the economy.

(B) Any change in the repo rate by RBI is a signal to banks to revise their rate of interest on
deposits and loans.

(1) Only (A)
(2) Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

frefafed § 9 R4 98 @/ ?
(A) SAef=reren § gz ufd % freism % foae yrdty Rerd S gfa are 1 @ 8§ agad w3 3
(B) uRety fiord de g1 Tl X H seeA Skt & forw s ug o W st i g¥ Ui ¥ v e ¥

(1) Fae (A)
(2) ad (B)
(3) (A)THE (B) TH
) T (A) FIRAH (B)

Options:-

.1, Option ID :- 1241,
. 2, Option ID :- 1242,
. 3, Option ID :- 1243,

- 4, Option ID :- 1244,
Answer Given:- 2, Option ID : -1242

Question ID:- 312

Effect of expansionary Monetary Policy by RBI is :
(1) It increases the cost of borrowing

(2) It decreases the Money supply

(3) It has no effect on rate of interest charged by commercial banks
(4)

It increases the money supply

gRar {sd s g1 fasrael difgss ifd &1 99d 2 :

(1) ¥R oM =i @F ° Ifs

(2 HE A H

(3) =HGEIfaF Sl g T ael S S I THHT I YHE el 2
(4) TR H A

Options:-

.1, Option ID :- 1245,
. 2, Option ID :- 1246,
. 3, Option ID :- 1247,

. 4, Option ID :- 1248,
Answer Given:- 4, Option ID : -1248




Question ID:- 313

Choose the correct statement.
(A) Banks were nationalised in India in 1969 and 1980.
(B) Nationalisation of Banks did bring financial inclusion

(1) Only (A) is correct

(2) Only (B) is correct

(3) Both (A) and (B) are correct
(4) Both (A) and (B) are incorrect
e e o FFT Y :

(A) ¥R H 1969 T 1980 H ekl =1 WLV T 71|
(B) ol & TR ¥ fafaa wwwan &1 agren faen

(1) ad (A) F& T
(2) o (B) Tel Tl

3) (A)UH (B) I WEl ¥
(4)

4) (A) T (B) qHI e B

Options:-

.1, Option ID :- 1249,
« 2, Option ID :- 1250,
. 3, Option ID :- 1251,

. 4, Option ID :- 1252,
Answer Given:- 3, Option ID : -1251

Question ID:- 314

Which of the following statement regarding Urjit Patel Committee is/are correct ?

(A) This committee was appointed to examine the monetary policy framework of RBIL

(B) Thecommittee suggested to adopt the new CPI as nominal anchor for policy recommendation.
(C) It recommended that RBI Governor should not be the Chairman of the Monetary Policy

Committee
(1) Only (A) and (B)
(2) Only (B) and (C)
(3) Only (A) and (C)
(4) All(A), (B) and (C)




Hield veet wfafa & deiy § Frefafas § § SR8 @ 3722

(A) =8 9fafq %1 7eq wrd frod de % wifger ifa < % wdem w0 F for fomm T am

(B) =9 WiHfd 7 73 SUNERN hiHa FaFish 1 A (Hwen 2 73 Tifdd 56 1 TR 6 ggE T g
(C) = wffa 3 fawfe =t & o6 wrdr fod d% % ek =1 difgs Hifa wfafa @ srere & < =few)

(1) e (A) TS (B)

(2) 9 (B) T ()

(3) W (A) T ()

(4) (A), (B) T (C) Tt
Options:-

.1, Option ID :- 1253,
. 2, Option ID :- 1254,
. 3, Option ID :- 1255,

. 4, Option ID :- 1256,
Answer Given:- 1, Option ID : -1253

Question ID:- 315

Which of the following is not correct ?
(1) Banks do not earn any inferest on their CRR deposits with RBI

(2) Open market operations of RBI is nothing but sale and purchase of govt. securities in open
market

(3) Commercial banks are regulated by the RBI

(4) RBI has nothing to do with foriegn exchange reserves of the country

Frefafes § 9 201 98 78 &2

(1) &% 9 RBI & 98 CRR 1 & #iE ot =751 =18 = €1

(2) RBI ! G&l IR &I YR i Fe 72 afcsr Get IR 8 wesr gfayyfadi 1 % ud fawa £
(3) =AEEIIE S H RBI 5/ fEfa 5 o €1

(4) <9 % faceft 41 YUSR ¥ RBI 1 %Ie oHl-oA1 7al ¢ |

Options:-

.1, Option ID :- 1257,
. 2, Option ID :- 1258,
. 3, Option ID :- 1259,

. 4, Option ID :- 1260,
Answer Given:- 4, Option ID : -1260

Question ID:- 316




Which of the following is/are correct about GDP deflator ?
(A) Itis a comprehensive measure of inflation.
(B) It is derived as a ratio of GDP at current price to GDP at constant price.

(1) Only (A)

(2} Cnly(B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

SEM staehiae & Fag | = § § BE-mA 9@ 2
(A) =8 GETEHI 1 T T A ¢ |
(B) 39 Il il H Serdt e feer imdi § Sieidt & 96 & €9 H fhren s 21

(1) Fae (A)

(2) e (B)

(3) (A)TH (B) T
(4) T (A) AR (B)

Options:-

.1, Option ID :- 1261,
. 2, Option ID :- 1262,
. 3, Option ID :- 1263,

. 4, Option ID :- 1264,
Answer Given:- 3, Option ID : -1263

Question ID:- 317

Which of the following is/are correct about National Rural Livelihood Mission (NRLM) ?

(A) TItis a poverty alleviation project implemented by Ministry of Rural Development, Govt. of
India.

(B) This scheme works through organising rural poor into Self- Help Groups(SHG) and promote
self employment.

(1) Only (A)

(2) Both (A) and (B)
(3) Only (B)

(4) Neither (A) nor (B)




T T sysifasn fage (NRLM) & de @ et 8 9 sm-ar8 @@ 378

(A)
(B)

(D
(2)
(3)
(4)

75 T faehr Herd, YRa SRR g fRaifad U e e ufiEe g1

1% st I TS SR S -HEdl 98 (SHGs) % €9 1 Tfed FEdl ¢ U WSAR i Serar St
2

Fad (A)

(A) T (B) T

Fac (B)

T (A) SR A € (B)

Options:-

.1, Option ID :- 1265,
« 2, Option ID :- 1266,
. 3, Option ID :- 1267,

. 4, Option ID :- 1268,
Answer Given:- 2, Option ID : -1266

Question ID:- 318

Which of the following statement is/are correct ?

(A)

(B)

I~ s s
BN e

TSR

The FERA of 1973 in India was replaced by FEMA w.e.f. June 2000 by Atal Bihari Vajpayee
Government.

This new act deals with foreign exchange civil offences.

Only (A)

Only (B)

Both (A) and (B)
Neither (A) nor (B)

fr=fafad ® 9 #H@-91 FY99 9a © 2

(A)

(B)
(D
(2)
(3)
(4)

31ed fagil asal TR & g1 &9 1973 % FERA H &1 S 2000 ¥ FEMA A § sga faan
RIEIN

7% 741 A faeel fafaa fafae SH & Hafd 2
Fad (A)
Fad (B)

(A) T (B) ST
T (A) IR 7 € (B)

Options:-

.1, Option ID :- 1269,
. 2, Option ID :- 1270,
. 3, Option ID :- 1271,

. 4, Option ID :- 1272,
Answer Given:- 3, Option ID : -1271

Question ID:- 319




The Credit Linked Capital Subsidy Scheme is related to which sector :
(1) MSME

(2) Heavy Industries
(3) Airport (Givil Aviation)
(4) Agriculture

Trg et deft Herraen 2 forg & | gafm €2

(1) TUHTETHE
(2) R SRR
(3) ®AE g (AMTH )
4 FM
Options:-

.1, Option ID :- 1273,
. 2, Option ID :- 1274,
. 3, Option ID :- 1275,

. 4, Option ID :- 1276,
Answer Given:- 1, Option ID : -1273

Question ID:- 320

The Theme of the 12th five year plan was :
(1) Inclusive growth

(2) Faster and reliable growth

(3) Reliable and sustainable growth
(4)

4 Faster, sustainable and more inclusive growth.

Erecibecripissicalbia ol

(1) wwrfsE fomwm

(2) g ud favasHa fowm

(3) fovemg wd waq fawm

(4) g, Fad W SAfuw garEfse fasms
Options:-

.1, Option ID :- 1277,
. 2, Option ID :- 1278,
. 3, Option ID :- 1279,

. 4, Option ID :- 1280,
Answer Given:- 4, Option ID : -1280

Question ID:- 321




True expression of National Income is :

(1) NNP at market price + Depreciation

(2) NNP at factor cost+ Net indirect taxes

(3) NNP at market price — Net indirect taxes

(4) NNP at factor cost+ Indirect tax + Depreciation

T 21 w3 vedE @

(1) NNP =R o4 + STFHedH

(2) NNP QA @0 + Y5 319981 1

(3) NNP &T6IR Je4 - Y& 3T

(4) NNP HEF &6 + g FIIS FL + FATqeT
Options:-

.1, Option ID :- 1281,
. 2, Option ID :- 1282,
. 3, Option ID :- 1283,

. 4, Option ID :- 1284,
Answer Given:- 3, Option ID : -1283

Question ID:- 322

Which of the following is not correct ?
(1) GDP=GNP — Net factor income from abroad.

(2) GNP=NNP + Depreciation
(3) NDP=GNP — Depreciation — Net factor income from abroad
(4) GDP=NNP + Depreciation + Net factor income from abroad

fr=fafea § 9 wH-91 98 761 § 2
(1) SHELH. = ST, — focell 9 o I8 9eF o

(2) SLTEAE =T + ST
(3) TASLY. =AY, — s — fasel | urh gs WA 3
(4) SIS =TATA. + SFaed + focel | urd g 9reF o™

Options:-

.1, Option ID :- 1285,
. 2, Option ID :- 1286,
. 3, Option ID :- 1287,

. 4, Option ID :- 1288,
Answer Given:- 4, Option ID : -1288

Question ID:- 323




Which of the following is not included in revenue receipts of Govt. of India ?
(1) Interest on loans from state governments.

(2) Profits of PSUs

(3) Fees, Fines and Penalties.

(4)

4 Borrowings.

frefafed § § frd RG SR 3 U5 gifedl § onfie =28l foran s &2
(1) TF TRl 8 U< R0 T =06

Options:-

.1, Option ID :- 1289,
. 2, Option ID :- 1290,
. 3, Option ID :- 1291,

. 4, Option ID :- 1292,
Answer Given:- 4, Option ID : -1292

Question ID:- 324

Which of the following statement is/are correct ?

(A) Service sector has been the driver of high rate of GDP growth in India during post reform
period.

(B) Service sector is the largest contributor in employment and second largest contributor in
GDP in India in last two decades.

(1) Only (A)

(2) Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

Frefafed § 9 #9178 Fg= 9d ¥/ 2
(A) YR FHA F qvEd 9Rd H 3= SELd. gfg = o Ja & oy @ R
(B) 9Rd - Ty=ed &1 Sk H Hal & 1 TSR H |eiferer Ual el § g6 Hed 4151 AEH W@ |

() Faa (A)

(2) 9 (B)

(3) (A)TE (B) TF
(4) T (A) FRTH (B)
Options:-

.1, Option ID :- 1293,

. 2, Option ID :- 1294,

. 3, Option ID :- 1295,

. 4, Option ID :- 1296,




Answer Given:- 1, Option ID : -1293

Question ID:- 325

Rural Infrastructure Development Fund was instituted in :

(1) RBI

(2) SIDBI

(3) ADB

(4) NABARD

THIOT HEIFT 21 faetd woe i TI9aT fore Geen st Je 2 2

(1) SE3TE. (RBI)
(2) SIDBI

(3) ADB

(4 NABARD
Options:-

.1, Option ID :- 1297,
. 2, Option ID :- 1298,
. 3, Option ID :- 1299,

. 4, Option ID :- 1300,
Answer Given:- 4, Option ID : -1300

Question ID:- 326

Capital receipts of Government of India do not include :
(1) Interest receipts on loan

(2) Borrowings
(3) Recovery of loan
(4) Receipts from disinvestment of PSUs.

TRA TRER i Yol Wil # o it 7ei 2 e ?
(1)  3RU1 W =TS i HIf

(2) W (3ER)

(3) 3R = el

(4) drumy, & faftee & wihar

Options:-

.1, Option ID :- 1301,

. 2, Option ID :- 1302,

. 3, Option ID :- 1303,

. 4, Option ID :- 1304,
Answer Given:- 1, Option ID : -1301

Question ID:- 327




If MPC is 0.8 and tax rate is 0.15, what will be the value of tax multiplier ?

1) =5
2) -4
(3) —0.65
4 =3

Ifa MPC 0.8 & T8 & &l &2 0.15 © o L 00 =1 Ged 1 B ?

(1) -5
(2 -4
(3) —0.65
4 -3

Options:-

.1, Option ID :- 1305,
« 2, Option ID :- 1306,
. 3, Option ID :- 1307,

. 4, Option ID :- 1308,
Answer Given:- 4, Option ID : -1308

Question ID:- 328

Given the savings function S= —50+0.25Y, if investment in an economy increases by Rs. 250
crore,

national income will increase by ’
(1) Rs. 800 Crore

(2) Rs. 900 Crore
(3) Rs. 1000 Crore
(4) Rs. 1200 Crore

e T 5= Wer S= —50+0.25Y ¥, Ift uw eferern § faw # 250 FE v #1 ofg a6t & 9w
s ¥ fopat gfg it 2

(1) 800 IS T i

(2) 900 S T h

(3) 1000 FS TIH I

(4) 1200 FUS T4 =l
Options:-

.1, Option ID :- 1309,
. 2, Option ID :- 1310,
. 3, Option ID :- 1311,

. 4, Option ID :- 1312,
Answer Given:- 3, Option ID : -1311

Question ID:- 329




Following is the information of Government Budget of a hypothetical economy :
Revenue expenditure = Rs. 1000 Crore

Revenure Receipts = Rs. 700 Crore

Capital expenditure = Rs. 200 crore

Capital Receipts = Rs. 400 crore

Non debt creating Capital Receipts = Rs. 100 crore
What will be the value of fiscal deficit ?

(1) Rs. 300 Crore
(2) Rs. 400 Crore
(3) Rs. 500 Crore
(4) Rs. 600 Crore

Teh Shicdeh iderewen F i owe & frfafaa siws €
TS 24 = 1000 FUS 94

T[T AT = 700 FAS T

TSI & = 200 FHS T4

Yl T = 400 S T

- Yoiird wifear = 100 S T

TSTRIGT B 1 o &1 SR 2
(1) 300 =S T4

(2) 400 IS 94

(3) 500 S T

(4) 600 S TG
Options:-

.1, Option ID :- 1313,
. 2, Option ID :- 1314,
. 3, Option ID :- 1315,

. 4, Option ID :- 1316,
Answer Given:- 1, Option ID : -1313

Question ID:- 330

Investment demand in an economy depends on :
(A) Marginal propensity to consume

(B) Marginal efficiency of capital

(C) Rate of interest

(1) y (A) and (B)
(2) Only (A) and (C)
(3)  Only (B) and (C)
(4) Al (A), (B) and (C)




e siefereee § fraw A forg w feft st § 2
(A) 39T 1 Ha vy
(B) USit sl Hiara FHerew

(C) =S il &

(1) e (A) T (B)
(2) I (A) T (Q)
(3) 9d (B) W (C)
(4 (A), (B) T (C) Bt

Options:-

.1, Option ID :- 1317,
« 2, Option ID :- 1318,
. 3, Option ID :- 1319,

. 4, Option ID :- 1320,
Answer Given:- 3, Option ID : -1319

Question ID:- 331

According to Keynes, involuntary unemployment exist due to :
(A) Deficiency of aggregate demand
(B) Deficiency of aggregate supply.

(1) Only (A)

(21 Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

o & SATER, =z SRR fod SRl § a1 Sl € 2
(A) oy O

(B) HHYU Ufd H &l

(1) e (A)

(2) e (B)

(3) (A) W (B) &I

(4) 7 (A)RAH (B)
Options:-

.1, Option ID :- 1321,
. 2, Option ID :- 1322,
. 3, Option ID :- 1323,

. 4, Option ID :- 1324,
Answer Given:- 1, Option ID : -1321

Question ID:- 332




Which of the following causes cost-push inflation ?
(A) Increase in Government expenditure

(B) Increase in wages

(C) Increase in profit margins.

(1)  Only (A) and (B)
(2) Only (B) and (C)
(3) Only (A) and (C)
(4) Only (O)

(B) weigd H gfg
(C) @y 21U H 3fg
(1) e (A) W& (B)
(2) e (B) T (O)
(3) Fd (A) T ()
(4) @ (O)
Options:-

.1, Option ID :- 1325,
. 2, Option ID :- 1326,
. 3, Option ID :- 1327,

. 4, Option ID :- 1328,
Answer Given:- 2, Option ID : -1326

Question ID:- 333

A situation when a high rate of inflation occurs simultaneously with a high rate of unemployment
is known as :

(1) Stagnation
(2) Recession
(3) Inflation
(4) Stagflation

(1)  Ifagian

(2) Hdt

(3) HammIfd

(4) wRifd it
Options:-

.1, Option ID :- 1329,
« 2, Option ID :- 1330,




. 3, Option ID :- 1331,

. 4, Option ID :- 1332,
Answer Given:- 1, Option ID : -1329

Question ID:- 334

Which of the following statement is/are correct ?

A) An increase in eovernment expenditure raises GNP, Multiplier determines the size of this
; & F p
increase.

(B) An increase in taxes increases GNP.

(1) Only (A)
(2) Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

Frefafes § & #H-9/8 Fu7 T8 322
(A) TN =E § glg STl F1 9l 7 | YO 39 gfs % SRR &1 Ui wa €1
(B) i H gfig s, =i wgel &1

(1) Haa (A)

(2) e (B)

(3) (A) W (B)qHI
(4) 7 (A)ARTE (B)
Options:-

.1, Option ID :- 1333,
. 2, Option ID :- 1334,
. 3, Option ID :- 1335,

. 4, Option ID :- 1336,
Answer Given:- 1, Option ID : -1333

Question ID:- 335

As per NFHS -5, the infant mortality rate (per 1000 livebirth) in India has declined to :

(1) 49.2
(2) 455
(3) 42.7
(4) 352

NFHS-5 % &i78R, 9Ra 8 fag 907 ¢ (ufd &9 siifad 570) mes a1 T €

(1) 49.2
(2) 455
(3) 42.7
(4) 35.2

Options:-

.1, Option ID :- 1337,




« 2, Option ID :- 1338,
. 3, Option ID :- 1339,

- 4, Option ID :- 1340,
Answer Given:- 4, Option ID : -1340

Question ID:- 336

Read the following statements and choose the correct option :
(A) As per NFHS - 5, sex ratio of Haryana has improved from 836 (NFHS -4) to 893 (NFHS -5)
(B) For Kerala during the same period it has deteriorated from 1047 (NFHS+4) to 951 (NFHS-5)

(D) Onl}’ (A)

(2)  Only (B)

(3) Both (A) and (B)

(4) Neither (A) nor (B)
Frefafad e =l Yeht T8l fashed 1 =4 |

(A) NFHS-5 % 199R, gfamn # fofn s1qu@ 836 (NFHS-4) | 9ga 893 (NFHS-5) & 701 €1
(B) T ERH e H I8 1047 (NFHS-4) ¥ 52at 951 (NFHS-5) & 71 ¥

(1) ae (A)

(2) e (B)

(3) (A) W (B) M
(4) T (A)ARTE (B)
Options:-

.1, Option ID :- 1341,
. 2, Option ID :- 1342,
« 3, Option ID :- 1343,

. 4, Option ID :- 1344,
Answer Given:- 1, Option ID : -1341

Question ID:- 337

Which of the following is/are correct regarding Green Revolution in India ?
(A) It increased agricultural production

(B) It also increased agricultural productivity

(C) It reduced regional inequality

—

y (A) and (B)
Only (B) and (C)
Only (A) and (C)
Only (A)

— e~~~
W= 2 D
e s e N




R H 2fd wifd o day d w1 9 9 sE-avd 9@ 22 7?
(A) Fu8 iy e ¥ 9 g ¢

(B) 359 &y e § +ff afg &€ 7

(C) TEY &g STHHH &9 g8 €

(1) ad (A) T (B)
(2) =@ (B) T (O)
(3) Fa@ (A) T ()
(4) A (A)
Options:-

.1, Option ID :- 1345,
. 2, Option ID :- 1346,
. 3, Option ID :- 1347,

. 4, Option ID :- 1348,
Answer Given:- 1, Option ID : -1345

Question ID:- 338

Read the following statements and choose the correct option :

(A) Share of agriculture in total employment in India has declined significantly between
1999 -2000 and 2017-18.

(B) LFPR of female declined very sharply between 2011-12 and 2017-18.

(1) Only (A)

(2)  Only (B)

(3) Both (A) and (B)

(4) Neither (A) nor (B)

frefafed Fua =1 Tga W&t fashed =l T |

(A) =9 1999-2000 TS 2017-18 = &9 YR H el UTIR H i 1 AT FHl 9 §E
(B) wfgenei I g9ae § wrfiedl & § 2011-12 31X 2017-18 & 9 asit § e o1 1

(1) e (A)

(2) A (B)

(3) (A) @ (B) S
(4 T (A)SRTEF (B)
Options:-

.1, Option ID :- 1349,
. 2, Option ID :- 1350,
. 3, Option ID :- 1351,

. 4, Option ID :- 1352,
Answer Given:- 1, Option ID : -1349

Question ID:- 339




In India, the last official estimation of poverty was done by Rangarajan Committee in 2014 using
the data of consumption expenditure survey 2011-12. The poverty was estimated by this committee

(1) 382 %
2) 325 %
(3) 295 %
(4) 237 %

gRd H, 2AfereRlter B9 § e 1 2I9=ieE esad 2014 H, e wfafd gr1 2011-12 F ST o 1d
o TSl % IUAM I foha T 911 39 HHS F gR TS 1 kel fohaen fen A # 2

(1) 382%
(2) 32.5%
(3) 29.5%
(4) 23.7%

Options:-

.1, Option ID :- 1353,
« 2, Option ID :- 1354,
. 3, Option ID :- 1355,

- 4, Option ID :- 1356,
Answer Given:- 2, Option ID : -1354

Question ID:- 340

In which of following five year plan Actual Growth Performance of the Economy was higherthan
the targeted growth ?

(1) First Five year Plan

(2) Second Five year Plan
(3)  Third Five year Plan
(4)

4) Fourth Five year Plan

forg deanta grem |, YR sAoferae | ardfas gig &, dfad gfe et 3 st off ?
(1) 99 gaaH" A

(2) Tedra d=erdta drsH

(3) qera TeEHra Fe

(4) =it g=EEeT e
Options:-

.1, Option ID :- 1357,
. 2, Option ID :- 1358,
. 3, Option ID :- 1359,

. 4, Option ID :- 1360,
Answer Given:- 3, Option ID : -1359

Question ID:- 341




Disguised unemployment means :
(1) Productivity of Labor is Low

(2) Marginal Productivity of labor is Zero
(3) Alternative Employment is absent

(4) Average Productivity of Labor is Zero
ferdt SsRIR o1 299 € -

(1) 99 =i e = 81

(2) 99 =i HiHiq Scaged I T

(3) dehfegeh TS IUeTey &l & |

(4) o7 T ST SEHT YA T
Options:-

.1, Option ID :- 1361,
. 2, Option ID :- 1362,
. 3, Option ID :- 1363,

. 4, Option ID :- 1364,
Answer Given:- 2, Option ID : -1362

Question ID:- 342

Which of the following is/are included while estimating national income using Value added
Method ?

(A) Imputed Rent of Owner occupied houses.

(B) Imputed Value of goods produced for self consumption.
(C) Net factor income from abroad.

(D) Value of intermediate consumption.

(1) (A), (B) and (C)
(2) (A), (B)and (D)
(3) (A), (C) and (D)
(4) Only (C) and (D)

T gfs faft =1 werm & U o & sum % fon f=1 | 9o snfae fofen st &2
(A) Tl gra =it 3% JehH = ST TR |

(B) ¥&d IUHPT ¥q IeuTfad areqei w1 AT oA |

(C) fosw & ym g e T |

(D) WAl IUNFT Sl HeH |

(1) (A), (B)™ (C)
(@ (A), (B)TE (D)
(3) (A), (©) (D)

Options:-




.1, Option ID :- 1365,
. 2, Option ID :- 1366,
. 3, Option ID :- 1367,

- 4, Option ID :- 1368,
Answer Given:- 1, Option ID : -1365

Question ID:- 343

Given the information of an economy below :
C=50+08Y,

t=0.25

What will be value of multiplier ?

(1) 2.25

2) 2.5
) 4.0
) 3.0

2

(
(
(4

e sfeferaed i e STl & SHR W
C=50+08Y,

t=0.25

T[UTieh %1 & I BT ?

(1 225

(2) 2.5

(3) 4.0

(4 3.0
Options:-

.1, Option ID :- 1369,
. 2, Option ID :- 1370,

. 3, Option ID :- 1371,

. 4, Option ID :- 1372,
Answer Given:- 2, Option ID : -1370

Question ID:- 344

(A) Level of Income

(B) Price Expectation

(C) Consumer’s Preferences
(D) Rate of Interest

(1) (A), (B)and (O)
(2)  (A), (B) and (D)
(3) (A), (C) and (D)
(4) Only (A) and (D)

In Keynesian Model, consumption is determined by :




& o Higd |, 399 1 fAuio fras g ® 2

D) =S &l R

(1) (A), (B) @ (C)
(2 (A),(B) T (D)
(3 (A), © ™ (D)

Options:-

.1, Option ID :- 1373,
. 2, Option ID :- 1374,
. 3, Option ID :- 1375,

. 4, Option ID :- 1376,
Answer Given:- 4, Option ID : -1376

Question ID:- 345

Which of the following is not a function of RBI ?

(1) Establishes business relations with Central banks of other IMF member countries.
(2) Lending Money to Enterpreneurs

(3) Accepts deposits of Union and State governments

(4) Deals in Foreign Securities

=1 3 § %991 RBI &1 1 &l & ?

(1) IMF % HS™ ¥ & hrard Sehi o T2 1 Traw+ Tfid e
(2) SEEE it 8T SR

(3) °hE Ud TF UGNl & ST T TR

(4) forceft wfayfasii ¥ wwaiet wrf o

2

Options:-

.1, Option ID :- 1377,
. 2, Option ID :- 1378,
. 3, Option ID :- 1379,

. 4, Option ID :- 1380,
Answer Given:- 2, Option ID : -1378

Question ID:- 346

Which of the followings is not among the salient features of Indian economy at the time of
independence ?

(1) Disparities in Income Distribution

(2)
(3)  Self sufficiency in foodgrains
(4) Lack of Industrialization

Dominance of Agriculture




A % T R sidfereen & e § ¥ FH-se 9 g fadwaed § ¥ w82
(1) o1 famo & faudand

(2) T &3 Ta_A

(3) WM H st

(4) STRIFIERT & S19E

Options:-

.1, Option ID :- 1381,
. 2, Option ID :- 1382,
. 3, Option ID :- 1383,

. 4, Option ID :- 1384,
Answer Given:- 3, Option ID : -1383

Question ID:- 347

For most of its policy decisions RBI uses inflation indics after April 2014 :

{1y CFl

(2) WPI

(3) CPI industrial worker
(4) CPI agriculture worker

3T 2014 % 918 RBI 3797 SATERR AtdrTd 0, GEewifa & fFe go& (Indics) & T97 ¥ & W@ &2

(1) CPI
(2) WPI
(3) SArEnfTs 4ff CPI
(4) i g CPI
Options:-

.1, Option ID :- 1385,
« 2, Option ID :- 1386,
. 3, Option ID :- 1387,

. 4, Option ID :- 1388,
Answer Given:- 1, Option ID : -1385

Question ID:- 348

Economic Reforms were introduced by China and India respectively in :
(1) 1978 ; 1991
(2) 1981 ; 1991
(3) 1988 ; 1991
(4) 1982 ;1991




=19 T8 WA % gH 3T YU 9 e @) fw5d 7 2
(1) 1978, 1991

(2) 1981, 1991
(3) 1988, 1991
(4) 1982, 1991

Options:-

.1, Option ID :- 1389,
« 2, Option ID :- 1390,
. 3, Option ID :- 1391,

. 4, Option ID :- 1392,
Answer Given:- 1, Option ID : -1389

Question ID:- 349

Read the statements and choose the right option :
(A) PM Gati Shakt is a Infrastructure development coordination platform
(B) PM Gati Shakti is driven by 7 Infrastructural engines.

(1) Both are correct

(2) Both are incorrect

(3) (A) is correct but (B) is incorrect
(4) (A) is incorrect but (B) is correct
A ] TgHL Wal [aked g |

(A) Tum. fG uite T el fomm g5 wiewE §
(B) ttum. wifa wfts 7 &t wrsrst gl gry STl 5 W ¥

(1) EFiHE T

(2) =HFiTd |

(3) (A)TE ? W (B) TTewd B
(4)  (A) 7o & T (B) W T
Options:-

.1, Option ID :- 1393,
. 2, Option ID :- 1394,
« 3, Option ID :- 1395,

. 4, Option ID :- 1396,
Answer Given:- 1, Option ID : -1393

Question ID:- 350




Read the following statements and choose the correct option :

(A) As per economic survey 2021-2022; India’s Conventional Policy approach popularly known
as Waterfall approach has dumped in favour of Barbell strategy.

(B) This policy change was brought into play for adjustment in the policies based on real-time

information.
(1) (A) is correct but (B) is incorrect
(2) (A) is incorrect but (B) is correct
(3)  (B) is the right explanation of (A)
(4) (A) and (B) are contradictory
=1 ol 1 TeaR TE fased & 93 F
(A) 3TIfeie Feaor 2021-22 % HATER; YRA i Fdfod  FReTwe’ Hifa el i @l aned’ =g

% g& § AT e T R
(B) &g Hifa ufads arfersr—emet gEiell & iR 9¥ Ao § ufedaamse &g fem @ 2

(1) (A) 9@ 8 T (B) 7o 2|

(2 (B TET W:"g' ) T € |

(3) (B) A (A) HI TE AR B

(4) (A)s3iR )@gm‘{%ﬁﬁ%ﬂm%l
Options:-

.1, Option ID :- 1397,
« 2, Option ID :- 1398,
. 3, Option ID :- 1399,

- 4, Option ID :- 1400,
Answer Given:- 3, Option ID : -1399

Question ID:- 351

According to budget 2022-23 ; four priorities of Amrit Kaal are :

(1) PM Gati Shakti ; Inclusive development ; Productivity Enhancement and financing of
investment.

(2) PM Gati Shakt ; Inclusive development ; Productivity Enhancement and linking of rivers.

(3) PM Gati Shakti ; Inclusive development ; Productivity Enhancement and women
empowerment,

(4) (1) and (2) is correct but (3) is incorrect.

9 2022-23 % T2 % ATHR, TYA-He H IR NLHFRAT ¥ :

(1) dtum. fq ofes; Seme faw; Screwa Ha4T ta faw @ fau faa gau |
(2) Hi.uw. Tfq oife; qereEei fawe; e HaUT ue Tfed w1 Se |

(3) A, i wifh; FeEell foshre Scareehar Hadq ud wigen qufhson |

(4) 2) TEl § U (3) T ¥

Options:-
.1, Option ID :- 1401,




. 2, Option ID :- 1402,
. 3, Option ID :- 1403,

. 4, Option ID :- 1404,
Answer Given:- 1, Option ID : -1401

Question ID:- 352

Which one of following is direct instrument of Monetary Policy ?
(1) Cash Reserve Ratio

(2) Open Market Operation
(3) Liquidity Adjustment Facility
(4) Reverse Repo Rate

=1 9 9 - difess i o1 dien ol 7 2
(1) < SHT AIHH

(2) Gl TSR A
(3) dErdl HHESH glaH
(4) fad s

Options:-

.1, Option ID :- 1405,
. 2, Option ID :- 1406,
. 3, Option ID :- 1407,

. 4, Option ID :- 1408,
Answer Given:- 1, Option ID : -1405

Question ID:- 353

According to Mercantilists view; trade is a :

(1) comparative advantage game.
(2) negative sum game.

(3) zero sum game.

(4) positive sum game.

FifogaTel for=m o SFTHR; AN :
(1) TS &Y &1 T ¢ |
(2) RUTHS SHI H Td
(3) I 5H H B T
(4)

2

4) YT ST H W 2

Options:-

.1, Option ID :- 1409,
. 2, Option ID :- 1410,
. 3, Option ID :- 1411,

. 4, Option ID :- 1412,
Answer Given:- 1, Option ID : -1409

Question ID:- 354




Which of the following WTO agreement cover all internationally traded services ?

(1) TRIPS
(2) TRIMS
(3) GATS
(4) PTA

=1 5 | -9 WTO |93l (Agreement) T SIS Hernsil & SAT9R &1 AMHA (Cover) HTdl & ?

(1) TRIPS
(2) TRIMS
(3) GATS
(4) PTA

Options:-

.1, Option ID :- 1413,
. 2, Option ID :- 1414,
. 3, Option ID :- 1415,

. 4, Option ID :- 1416,
Answer Given:- 3, Option ID : -1415

Question ID:- 355

With reference to the component of “Bharat Nirman Yojana’ which of the following are correct ?
(A) Rural Housing

(B) Rural Telephony

(C) Rural electrification

(D) Rural employment

Select the correct answer using the code given below :

(1) (A), (B) and (O)
(2 (B), (©) and (D)
(3) (A), (C) and (D)
(4) All of the above

‘g faio A F v & A= H 9 -1 wE g ?

)
(2)
(3)  (A), (C) 3R (D)
(4)




Options:-

.1, Option ID :- 1417,
. 2, Option ID :- 1418,
. 3, Option ID :- 1419,

. 4, Option ID :- 1420,
Answer Given:- 3, Option ID : -1419

Question ID:- 356

Which one of the following is not correctly matched ?

Organisation Year of Establishment
(1) International Monetary Fund - 1945
(2) World Bank - 1944
(3) World Trade Organisation B 1995
(4) Asian Development Bank - 1966
o & i e T &2
R TTOAT
(1) AU qal 1945
(2) fova d% 1944
(3) fova =R HireA 1995
(4) Ui e s 1966
Options:-

.1, Option ID :- 1421,
. 2, Option ID :- 1422,
. 3, Option ID :- 1423,

. 4, Option ID :- 1424,
Answer Given:- 2, Option ID : -1422

Question ID:- 357

Arrange the origin of money in a sequential order :

(I) Metallic money

(I) Commodity money

(IIT) Paper money

(IV) Plastic money

Select the correct answer using the code given below code:

(1) (@), (D), (1), (1)
(2)  (IV), (1), (1), 1)
(3) (D, (D), (), (IV)
(4) (I, (IV), (1), @




TET % ITTH i A A | FE@ :

(I) =g g

(I) =% J

(III) =TSt Hel

(IV) i g1

= feu U e | w3 F g
M @ ), (11D, Iv)

(2) (V). (), ({1, (1)

(3) (D, O, (1), IV)

(4) (1), 1v), D), (@)

Options:-

.1, Option ID :- 1425,
. 2, Option ID :- 1426,
. 3, Option ID :- 1427,

. 4, Option ID :- 1428,
Answer Given:- 3, Option ID : -1427

Question ID:- 358

Which of the following Commodities is kept outside the purview of GST ?
(A) Insurance Products

(B) Petroleum Products

(C) Edible Oils

Select the correct answer using the code given below :

(1) Only (A)
(2) Only (B)
(3) Only (O
(4)  All of the above

Frefafea H 9 form 3% =1 9% T 991 & & SR 9 9l W@ T E ?
(A) = 3R

(B) UifeEm 3euig

(C) @ ad

(D)

(2) = (B)
(3)

(4) SR |l
Options:-

.1, Option ID :- 1429,
. 2, Option ID :- 1430,




. 3, Option ID :- 1431,

. 4, Option ID :- 1432,
Answer Given:- 4, Option ID : -1432

Question ID:- 359

Which one of the following countries is not the member of the Shanghai Cooperation Organization
(SCO) ?

(1) Japan
(2) India

(3) China
(4) Pakistan

Frreafafead <@l § &, A e Hedr1 §1ed (SCO) 1 §ed T8l 8 ?

(1) SaH
(2) ™d
(3) =M
(4) rfeREH
Options:-

.1, Option ID :- 1433,
. 2, Option ID :- 1434,
. 3, Option ID :- 1435,

. 4, Option ID :- 1436,
Answer Given:- 2, Option ID : -1434

Question ID:- 360

Which of the following is correct ?
(A) Sensex is an index number of 30 shares.
(B) The oldest stock exchange of India is BSE.

(C) Futures and options in shares are traded at all stock exchanges of India.
Code :

(1) (A)and (B)
(2) (B)and (C)
(3) (A)and (O
(4) (A), (B) and (C)




frfafed & ¥ HH-a @ &2
(A) TTFT 30 VPRl T UF GHEFIF T

(B) TRA o T YUAT Wi Ta=S dUHE. Tl
(C) I3 & F=E qU1 SATWH 1 FRER TG & G Lk T=s § o S g |

%<

(1) (A) 3R (B)
@ (B @R ()
(3) (A) 3R (O
(4 (A), (B) ¥R ()
Options:-

.1, Option ID :- 1437,

. 2, Option ID

. 4, Option ID :-

Answer Given:-

:- 1438,
. 3, Option ID :-

1439,

1440,
4, Option ID : -1440
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